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Question Id : 87827024629 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of buildings constructed in six different towns A - F of a
state S over the seven years from 2016-2022. Based on the data in the table, answer the questions

that follow.
Town-wise Details of Buildings Constructed.

Yeart o6 o0t | 2018 | 2019 | 020 | 2001 | 2022

Town
A 13000 | 3160 | 3220 | 5272 | 3300 | 3320 | 3400

2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
5448 | 3500 | 3600 | 3640 | 3664 | 3760 | 3792
2040 | 2100 | 2200 | 2230 | 2320 | 2350 | 2580
2277 | 2380 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827024630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Across the state 5, the total number of buildings constructed in 2016 is approximately
% of the total number of buildings constructed in 2018 ?

Options :

87827097241. 1
87827097242. 2
87827097243. 3

87827097244. 4

Question Number : 2 Question Id : 87827024631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of buildings constructed in Town B over all the seven years ?
(1) 17870

) 18780

) 17780

) 18870
Options:
87827097245. 1
87827097246. 2
87827097247. 3

87827097248. 4



Question Number : 3 Question Id : 87827024632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of buildings constructed in Town D in 2018 with
reference to the previous vear ?

(1) 38 %

(2) 28 %

(3) 48 %

(4) 4%
Options :
87827097249. 1
87827097250. 2
87827097251. 3

87827097252. 4

Question Number : 4 Question Id : 87827024633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n the context of towns E and F together, what is the difference between the number of buildings
constructed in 2021 and that in 2017 ?

1) 630

) 830
) 430
4 410

H=

Options :
87827097253. 1
87827097254. 2

87827097255. 3

87827097256. 4



Question Number : 5 Question Id : 87827024634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Total number of buildings constructed over the years from 2020 to 2022 is more than 8500 in
exactly towns,

1) 2
Q) 3
3 4
4 5
Options :

87827097257. 1
87827097258. 2
87827097259. 3

87827097260. 4

Question Id : 87827024629 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

3000 | 3160 | 5220 | 3272 | 3300 | 3320 | 3400
2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
3448 | 3500 | 3600 | 3640 | 3604 | 3760 | 3792
2040 | 2100 | 2200 | 2250 | 2320 | 2550 | 2380
2072 | 2580 | 2460 | 2480 | 2530 | 2560 | 2588

= | | O] Y| =] =

Sub questions

Question Number : 1 Question Id : 87827024630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S T ¥, 2016 H R s 1 et e 2018  F41 e ot i ) o el W (%) 2
1) 81

) 94
) 84
§) 74

2
3
Options :

87827097241. 1
87827097242. 2

87827097243. 3

87827097244. 4

Question Number : 2 Question Id : 87827024631 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR B H 9 guf | fafdd el =t Fe1 den oo 22

(1) 17870

(2) 18780
(3) 17780
(4) 18870
Options :

87827097245. 1
87827097246. 2
87827097247. 3

87827097248. 4

Question Number : 3 Question Id : 87827024632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR D ¥ 2018  fAftq el i wen & a au A qorn A fre wawd 9fg g R 7
(1) 385 %

(2) 285 %
(3) 485 %
(4) 4%
Options:
87827097249. 1
87827097250. 2
87827097251. 3
87827097252. 4

Question Number : 4 Question Id : 87827024633 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097253. 1
87827097254. 2
87827097255. 3

87827097256. 4

Question Number : 5 Question Id : 87827024634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097257. 1
87827097258. 2
87827097259. 3
87827097260. 4

Sub-Section Number : 2
Sub-Section Id : 8782701078

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 87827024635 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which collaborative ICT tool allows user to create digital bulletin boards to share and gather
information ?

(1) X-mind
(2) Padlet

(3) Book creator
(4) Plotagon
Options :
87827097261. 1
87827097262. 2
87827097263. 3

87827097264. 4

Question Number : 6 Question Id : 87827024635 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T8 8 0 1 N ST e AR o S O 0t & 0 ¢ i i
T %1 A 2 &7

Options :
87827097261. 1



87827097262. 2
87827097263. 3

87827097264. 4

Question Number : 7 Question Id : 87827024636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : - In Round-Robin cooperative learning strategy, students work together to achieve
a common goal or complete a task,

Statement (1) : In group investigation cooperative learning strategy, students take turns sharing
their ideas, thoughts or solutions within their group.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I 1s mcorrect but Statement I1 is correct

Options :

87827097265. 1
87827097266. 2
87827097267. 3

87827097268. 4

Question Number : 7 Question Id : 87827024636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097265. 1
87827097266. 2
87827097267.3

87827097268. 4

Question Number : 8 Question Id : 87827024637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Swayam Prabha channel (7 - Kautilya is related to which of the following subjects ?
A)  Economics

B) Library Science

D) Finance

E) Mathematics

Choose the correct answer from the options given below :
(1) (B), (D)and (E) Only

(2) (C)and (E) Only

(3) (A), (C) and (D) Only

) (8) () and (D) Only

Options:

(
(
(C) Commerce
(
(

87827097269. 1
87827097270. 2
87827097271.3

87827097272. 4

Question Number : 8 Question Id : 87827024637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097269. 1

87827097270. 2

87827097271.3
87827097272. 4

Question Number : 9 Question Id : 87827024638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n which strategy of cooperative learning, students are separated into an inner and outer circle
(In the inner circle, students have a discussion and students in the outer circle Listen to the
discussion) ?

(1) Snow ball

(2) Fishbowl

(3) Jigsaw

(4)  Think-pair-share

Options :



87827097273.1
87827097274. 2
87827097275. 3

87827097276. 4

Question Number : 9 Question Id : 87827024638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097273. 1
87827097274. 2
87827097275. 3

87827097276. 4

Question Number : 10 Question Id : 87827024639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of Information Development Model ?
A)  Self Awareness Model

B) Gagne's Information Model

(
(
(C) Jerome Bruner's Model
(D) Schuman’'s Model

(E)  Group Investigation Model

Choose the correct answer from the options given below :
(1) (A) (D) and (E) Only

(2) (B)and (D) Only

(3)  (B), () and (D) Only

(4) (A4) (€ and () Only

Options:

87827097277. 1

87827097278. 2

87827097279. 3

87827097280. 4

Question Number : 10 Question Id : 87827024639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097277. 1
87827097278. 2
87827097279.3

87827097280. 4

Question Number : 11 Question Id : 87827024640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The process of deduction involves drawing generalizable inferences out of
observations.

Statement (II) : Positivism advocates the application of the methods of the natural sciences to the
study of social reality.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

Y
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are mcorrect

Statement I is incorrect but Statement II is correct
Options:

87827097281. 1

87827097282. 2

87827097283. 3

87827097284. 4

Question Number : 11 Question Id : 87827024640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097281. 1
87827097282. 2
87827097283.3

87827097284. 4

Question Number : 12 Question Id : 87827024641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the threats to the internal validity of an investigation :
(A) History

(B) Instrumentation

(C) Maturation

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (A), (B)and (C)
Options:

87827097285. 1
87827097286. 2
87827097287. 3

87827097288. 4

Question Number : 12 Question Id : 87827024641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097285. 1
87827097286. 2
87827097287. 3

87827097288. 4

Question Number : 13 Question Id : 87827024642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Pearson's coefficient of correlation r' is a very useful measure of the strength and
direction of the relationship between two nominal variables.

Statement (I1) : Pearson’s coefficient of correlation ‘1’ always lies between 0 and 1.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827097289. 1
87827097290. 2
87827097291. 3

87827097292. 4

Question Number : 13 Question Id : 87827024642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097289. 1

87827097290. 2

87827097291. 3

87827097292. 4

Question Number : 14 Question Id : 87827024643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following refers toa method of sampling in which a core group of participants who
are initially sampled for a research study recruit or recommend other potential participants ?

(1) Simple random sampling
(2) Snowball sampling

(3) Quota sampling

(4) Stratified random sampling
Options :
87827097293. 1
87827097294. 2
87827097295. 3

87827097296. 4

Question Number : 14 Question Id : 87827024643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097293. 1
87827097294. 2
87827097295. 3
87827097296. 4

Question Number : 15 Question Id : 87827024644 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  According to UGC regulations 2018 on Prevention of Plagiarism, a student is
tequired to give anundertaking while submitting a thesis, stating that the document
is his/her original work which is free from any plagiarism.

Statement (1) : According to UGC Regulations 2018 on Prevention of Plagiarism, the research
supervisor is not required to certify that the work done by the researcher under
himy/her is plagiarism free.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

2
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827097297. 1
87827097298. 2
87827097299. 3
87827097300. 4

Question Number : 15 Question Id : 87827024644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097297. 1
87827097298. 2
87827097299. 3

87827097300. 4

Question Number : 16 Question Id : 87827024645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In conversations, relevancy maxim means rnaking :

(1) Metaphoric remarks

(2) Allusions

(3) Pertinent comments

(4) Rudimentary comments
Options :

87827097301.1

87827097302. 2



87827097303. 3

87827097304. 4

Question Number : 16 Question Id : 87827024645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827097301. 1
87827097302. 2

87827097303. 3

87827097304. 4

Question Number : 17 Question Id : 87827024646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Failure to understand the cultural environment can lead to :
(1) Information richness
2

(2)  Exhibitionism
(3) High-brow communication
(4)

4 Miscommunication
Options :
87827097305. 1

87827097306. 2



87827097307. 3

87827097308. 4

Question Number : 17 Question Id : 87827024646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097305. 1
87827097306. 2
87827097307. 3

87827097308. 4

Question Number : 18 Question Id : 87827024647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Buddhist mode of inter-personal communication emphasises :
A) Unfettered use of language

(

(B) Unintelligible moral frames

(C) Symmetrical relations

(D) Consensus through interaction

(E) Verifiability of communication

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (O, (D) and (E) Onl

(4) (A), (B) and (E) Dnly,r
Options:

87827097309. 1
87827097310. 2
87827097311. 3

87827097312. 4

Question Number : 18 Question Id : 87827024647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097309. 1
87827097310. 2
87827097311.3

87827097312. 4

Question Number : 19 Question Id : 87827024648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : Paralinguistic features express emotions and communicate personality traits.

Statement (1) : The subtle use of vocal inflections can provide special significance to verbal
Messages.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827097313. 1
87827097314. 2
87827097315.3
87827097316. 4

Question Number : 19 Question Id : 87827024648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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KU (1) : Ao TR o forseqm) i wifier 5wl 41 fadhy wea ¢ 9ok €
T e o it W, el feu U el 9 Warw UG F A A I
(1) FOAT S0 FOR 1S 7 2

(2) IR Ko 1 G Terd &

(3) FUTIHEI 2, i o 17T &

(4) TR 2, W Fo 11961 ¢

Options :



87827097313.1
87827097314. 2
87827097315. 3

87827097316. 4

Question Number : 20 Question Id : 87827024649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - II.
List - I List - II
(Type of meta communications) ~ (Description/Example)

(A) Explicit () Anaggressive gesture modified with a smile

(B) Implicit () Comments on others communication behaviour
(C) Verbal () Sarcastic remarks

(D) Non-verbal (IV) Comments about non-verbal behaviour

Choose the correct answer from the options given below :

(1) (AH), (BHID, (CH{I), (DHIV)

(2) (AL, (B-{IID), (CHIV), (D)D)
(3) (AR, (B)-1V), (G0, (DKL)
(&) (AFV), (B}, (), (D))
Options :

87827097317.1
87827097318. 2
87827097319. 3

87827097320. 4

Question Number : 20 Question Id : 87827024649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o WY Gell-11 &1 foer i .

Toit-1 -1
(fy-wywor o bW ) (0T )

(A) TR () e & T adell T Uk S S
(B) dfifed () 571 T o FYo 7R R fewfir

(©) ?nfﬁaa (I11) S Sferat

(D) TR-mfee (V) TR-ufeceh e o ai H feofral

19 feu T forehedl & § WE I A1 T HIC

(1) (A}, (B)-(I), (CHII, (D}IV)

(2)  (A)ID), (B)-(ImI), (C)-(IV), (D)-(T

(3)  (A)-(IID), (B)-(IV), (O)-(T), (D)-(I)

(4)  (A)(IV), (B)-(D), (O, (D)-(m)

Options :

87827097317. 1
87827097318. 2
87827097319. 3
87827097320. 4

Question Number : 21 Question Id : 87827024650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A milkman buys 20 litres of milk from a dairy at the cost of Rs. 50 per litre, He also purchases some
mineral water at the rate of Rs 20 per litre and adds it to the milk. He then sells the adulterated

milk at the rate of Rs 60 per litre and makes a profit of Rs 400. What is the amount of water he
added to the milk ?

(1) 10litre
() 8litre
(3) 5 litre
(4) 4 litre



Options :

87827097321. 1
87827097322. 2
87827097323.3

87827097324. 4

Question Number : 21 Question Id : 87827024650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e <A % 50 YT el o e § 20 it g e 2| 9 €20 W et &l < ¥ o e
i ¥ e & o g8 gt o o & €1 Ao o 91 %60 W i < 9 o R 2400 T
St e | S 3 ot e W o e o)

10 et

Options:

87827097321. 1
87827097322. 2
87827097323.3

87827097324. 4

Question Number : 22 Question Id : 87827024651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of letters which will complete the following letter series.
aabcd - - - bedbe - - - dedab - - -

(1) abaabcedd
(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options:

87827097325. 1
87827097326. 2
87827097327. 3

87827097328. 4

Question Number : 22 Question Id : 87827024651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
firet 1em e &1 qof e o foTu S1eRi & & STHY 1 A e

aabed - - - bedbe - - - dedab - - -
(1) abaabcedd

(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options :
87827097325. 1
87827097326. 2
87827097327. 3

87827097328. 4

Question Number : 23 Question Id : 87827024652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Total monthly salary of a couple (husband and wife) is ¥ 2.0 lakh. Their salaries are in the ratio of
5:3. It husband and wife spend 40 % and 20 % of their salaries, respectively, what is the ratio of
their savings ?

() 3:2

(2] i
(3) 5:4
( 1

2 1 O

4
Options :

87827097329. 1
87827097330. 2
87827097331.3

87827097332. 4

Question Number : 23 Question Id : 87827024652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 70 <01 (90 o ) 8 ot TR 070 2 2.0 7 81 7 o 4 W 5:3 81 e ofg & ol
S-S0 7 1 O 40 % 920 % 5P R 8 ) IR 9 4 9 N €7
(1)

2
3
4

3.
358
4

5T B R |

)
)
)

e B & 5 |

Options :

87827097329. 1
87827097330. 2
87827097331.3

87827097332. 4

Question Number : 24 Question Id : 87827024653 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme :

‘Family values are important’ is written as “pa, ya, si, sa’
"Values are generally contagious’ is written as “ya, da, ja, sa’
‘Some diseases are mntagious’ is written as ‘ka, da, sa, ro’
What are the codes for ‘Contagious’ and “Values' ?

(1) da, sa

(2) da, si
(3) ka, ya
(4) da, ya
Options :

87827097333. 1
87827097334. 2
87827097335. 3

87827097336. 4

Question Number : 24 Question Id : 87827024653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e @hiH 1,

“iftenfier ge mecyt € w1, W % w9 for 9w g
"I WG |G & 1, 1 S, 91 ok w9 H foran S e,
‘o T wighies & 1, @, 9@, ' % w9 foran g,
‘giafie’ 9 ‘gea’ % fau aF | Fe 77

(1) @&
(2) @, i
(3) LA
(4) T @
Options :

87827097333. 1
87827097334. 2
87827097335. 3

87827097336. 4

Question Number : 25 Question Id : 87827024654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the next term in the fu::llc:-wing number series ?
o Tl 0. B P e

(1) 176
(2) 155
(3) 142
(4) 186

Options :

87827097337. 1
87827097338. 2
87827097339. 3
87827097340. 4



Question Number : 25 Question Id : 87827024654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 o *jEen § o1 ug R W T ?
3,14, 39, 84, ?, - -

(1) 176

(2) 155

(3) 142

(4) 186
Options :

87827097337. 1
87827097338. 2
87827097339. 3

87827097340. 4

Question Number : 26 Question Id : 87827024655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of increasing denotation ?
(1) Cow, bovine, mammal, vertebrate, animal
(2) Mammal, Vertebrate, bovine, animal, cow
(3) Vertebrate, animal, mammal, bovine, cow
(4)

4)  Animal, Vertebrate, mammal, bovine, cow

Options:

87827097341. 1
87827097342. 2
87827097343.3

87827097344. 4



Question Number : 26 Question Id : 87827024655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefad § 9 #19 9 SE (Ted gu) a%ad & TRy § oraferd & 7
(1) T, TSI, SO, Feh, 79
(2) EITRH, HERT, ST, T, T
(3)  RITERI, I, YR, ST, T
(4) T, RO, WY, TSI, T
Options :
87827097341. 1
87827097342. 2

87827097343. 3

87827097344. 4

Question Number : 27 Question Id : 87827024656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement () :  Truth and falsehood are attributes of individual propositions.
Statement (I1) : Validity can be attributed to any single proposition by itself.

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2
3
(

Both Statement [ and Statement II are incorrect

4

)
) Statement I is correct but Statement II i incorrect
) Statement I is incorrect but Statement I is correct

Options:



87827097345. 1
87827097346. 2
87827097347. 3

87827097348. 4

Question Number : 27 Question Id : 87827024656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ oA feu U g

T (1) : T U6 7 e Yiewtad & €

oM (1) : 3w B @ el ft ook ot o o 2 e €

IR Y o Sf1clh H, el T 70 foehedi o § Hore SR ST ol 9 I
(1) e 3R HoW 11 3H T &

(2) R 1R HOR 11 S Terd ¢

(3) HUTIHEI &, wifehd ho 11777 &

(4) YT &, Wi Ho 1 He &

Options :

87827097345. 1
87827097346. 2
87827097347. 3

87827097348. 4

Question Number : 28 Question Id : 87827024657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which fallacy is committed in the following argument ?

“The universe must be spherical in form because all its constituent parts are spherical in form” ?
(1) Circular argument
(2) Red herring
(3) Slippery slope
¢

4) - Fallacy of composition

Options:

87827097349. 1
87827097350. 2
87827097351.3

87827097352. 4

Question Number : 28 Question Id : 87827024657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frettan 7 % B 1 - T ¢ - e H e TR & <10 i 3066 94 e &
R e

Options :

87827097349. 1
87827097350. 2
87827097351.3
87827097352. 4

Question Number : 29 Question Id : 87827024658 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The statement - “Pradeep’s mind is a cave : deep, dark and full of bats” is an
analogy which is only descriptive in nature.

Statement (II) : The statement - “Pradeep’s mind is a cave ; deep, dark and full of bats” is an
analogy which confains an argument,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827097353. 1
87827097354. 2
87827097355. 3
87827097356. 4

Question Number : 29 Question Id : 87827024658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e ) F foU T g

H () T, T, SR 0 T QR T ¢ 9% R TGV €
Wﬁﬂ:ﬁﬂ@ﬂfﬂ%ﬁl

O (11): "W 1 T, TR, SHE 90 TS N o 7 T € 1" 7 R WewAr & for
e fiefem

TR % el H, 77 0 70 Foereet o 9 T a1 90 1 9

(1) FRIERFRTH T2

(2) FORER B G T €

() HRIT & o TR0 ¢

(&) FERITR &, o R &

Options :

87827097353. 1
87827097354. 2
87827097355. 3

87827097356. 4

Question Number : 30 Question Id : 87827024659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : Nyaya syllogism has three propositions
Statement (I1) : Aristotelian syllogism has five propositions

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
g

4)  Statement I s incorrect but Statement II is correct



Options :

87827097357. 1
87827097358. 2
87827097359. 3
87827097360. 4

Question Number : 30 Question Id : 87827024659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A g F TR

®UF (1) : AHEH 2§ A vt g €
oM (1) : SIS e H vy 2 €|
IR F4 % e H, Al 500 foehedi § | Ward e I A T HIC
(1) eI S et 11 3 T &

(2) o1 SR B 11 G Terd ¢

(3) YRR 2, elfer B 11 7erd ¢

(4) IR &, i Fo I H &
Options :

87827097357. 1

87827097358. 2

87827097359. 3
87827097360. 4

Question Number : 31 Question Id : 87827024660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an online store house of all academic awards like certificates, diplomas,
degrees, marksheets etc. ?

(1) SWAYAM

(2) National Digital Library
(

(

)
3) National Academic Library
)

4)  National Academic Depository

Options:

87827097361. 1
87827097362. 2
87827097363. 3

87827097364. 4

Question Number : 31 Question Id : 87827024660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Foes 9 8 oo o, fevcon, T, e, o 0 e e, el 1 T e e
Tt

(1) (T o] U )

() TR s YR

() T SR

(4) T T FRATTT

Options :

87827097361. 1
87827097362. 2
87827097363. 3
87827097364. 4

Question Number : 32 Question Id : 87827024661 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[dentify the correct sequence of the missing nits of data A-D that can be used to represent the size
of a file, as it changes in size. The units of data increase in size from smallest to largest as given
below.

bit

tera Byte (TB)
(A) byte
(B) gigabyte (GB)
(C) megabyte (MB)
(D) nibble
Choose the correct answer from the options given below :
(1) (O (A) (€ 6)

Q) (4., ), ()
(3) (D) (4) ), (C)
(4 (4).0) (€, B
Options :

87827097365. 1
87827097366. 2
87827097367. 3
87827097368. 4

Question Number : 32 Question Id : 87827024661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



78 9 921 A-D %1 T A % e A o T i Fo forl et o e e
fofi o SRR, e a0 o e P o 1 8 | 1 ) Sl AR TR, e & e
5 e |

e fou o foredt O 9 W S 1 T i

(1) () (&) (€, B
) (4)(C), D)@

) B)
3 (D) () (B) (0
)

Q

VE

|
(0D
) (4) B
) (40,00

——

2
()
(4
Options:

87827097365. 1
87827097366. 2
87827097367. 3

87827097368. 4

Question Number : 33 Question Id : 87827024662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : Wiki is usually represented in reverse chronological order, whereas blog has a
structure determined by content and users.

Statement (I1) : Blog is usually personal/someone’s opinion, whereas a wiki is usually objective.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement 115 incorrect but Statement I1 is correct

Options:

87827097369. 1
87827097370. 2
87827097371.3
87827097372. 4

Question Number : 33 Question Id : 87827024662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el Q) A feu U §

H(1): 8l ) AT WOE FAEY 4 G W § S s @ g e §
eirRai g freffd &1 e 21

B (1) : ] ST AT ot 2o o 4 141 2, e Tl e e () BT
2l

T % el H, 47 0 0 et o e el 9 o 7

Options :

87827097369. 1
87827097370. 2
87827097371.3

87827097372. 4

Question Number : 34 Question Id : 87827024663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements A-E about firewalls in computer networks are true ?
) Firewalls are only available as hardware devices and only examine traffic entering a network,

B) Firewalls allow a user to set rules for network traffic.

D) Firewalls backup all data that is transmitted around a network.

(A

(

(C) TFirewalls will automatically stop all malicious trafic.

(

(E) Firewalls can be used to block access to certain websites.

Choose the correct answer from the options given below :
1) @) O ()Only

(2 (B)and (£} Onl

() (@) 0)and [ )ODIY
(4) (A)and (C) Only
Options:
87827097373. 1
87827097374. 2
87827097375. 3

87827097376. 4

Question Number : 34 Question Id : 87827024663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



O 2 W T % e 6 A o AR H 8 -3 W

(A) PR el G 47 3 Y 3 € SR 3 et e Yo o el T 1
4l ¢

B)  THPIETCH AERT o 12 2P & M P e il

C) et R forget (i) e 1 4 3 |

D) R fo A2 TR YU G 1 1 o e ¢

E) v oaeredl s o i A & forn wes o e e e 2

A e T foedl 0 R S o T Wi

(1) (4) (C) 3 (0

() B) 4 (5

() 4 (B), () 4 ()

() ¥ (4) 9 (Q

Options:

(
(
(
(

87827097373. 1
87827097374. 2
87827097375. 3

87827097376. 4

Question Number : 35 Question Id : 87827024664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List- 11
(Automatic data capture method)  (Description)

(A) OCR ()  System that reads pencil or pen marks on a piece of
paper in pre-determined positions

(B) OMR () System that reads characters printed in a special ink,
for example, the characters written at the bottom of
Bank cheque

(C) RFD (M) Reading data directly from hard copy and
converting into computer-readable form

(D) MICR (IV) Use of minute-electronic devices (containing
mictochip and antenna) that can read from distances
upto few minutes

Choose the correct answer from the options given below :

(1) (AHD, (3K, (-, (M)

(@) (A, BHI), (CH), D)

3) (AW, (B4, (CHIV), DK

[4) (AHV), (M, CHD, DK

Options :

87827097377. 1
87827097378. 2
87827097379. 3

87827097380. 4

Question Number : 35 Question Id : 87827024664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oL & 0 el 1 et i

Tl I
(Tter g e fafy) (o)

(A) ¥ W () % YOl e Tt 0 O e et o et e
o & o) % Ve ¢

B IR (1) o YoMl o O ferm @ (%) W e a0 9w €
TR T oF 7 o o o o o

) TR ¢ (1) ¥ 7 o 2T 93 @ et YA Y

RE (V) U e gt e (o gt & e &)
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A o T foked H § W S o o @i

(1) (A-{D), (BK{I), (C-{I, (DHIV)

(2) (AHI), (B-IV), (CHI, (DH()

(3) (KT, (B}, (CHIV), (DHT)

(4 (AHIV), (BM{ID, (C)(D) (DM{I)

Options:

87827097377. 1
87827097378. 2
87827097379. 3
87827097380. 4

Question Number : 36 Question Id : 87827024665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The absence of fluoride in drinking water causes tooth decay.

Statement (I1) : Absence of fluoride in drinking water causes mottling of teeth also known as
dental fluorosis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827097381. 1
87827097382. 2
87827097383. 3

87827097384. 4

Question Number : 36 Question Id : 87827024665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ P QU

HO (1) : T S 1 SRt % 0 i o o 4 R

RO (1) : Vofet A 1 a0 il o e i & ol S e (g
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TR I % ik H, T 0 0 Forred 9 e et S 4 0

(1) 1SR HR I ¢

() TR HR I 3R T €

() FRIT ¢, o FoR 1T ¢

({4) FURITEH &, oot R ¢



Options :

87827097381. 1
87827097382. 2
87827097383.3

87827097384. 4

Question Number : 37 Question Id : 87827024666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  Under Montreal protocol developed and developing nations have differentiated
responsibilities,

Statement (1) : Under Kigali amendment of Montreal protocol, ChloroFhuoroCarbons (CFCs) and
HydroChloroFluoroCarbons (HCFCs) were to be phased out.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement [ and Statement II are correct

2
3
(

Both Statement I and Statement II are incorrect

4

)
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options:

87827097385. 1
87827097386. 2
87827097387.3

87827097388. 4

Question Number : 37 Question Id : 87827024666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097385. 1
87827097386. 2
87827097387.3

87827097388. 4

Question Number : 38 Question Id : 87827024667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Naturally occurring Volatile Organic Compounds (VOCs) generally oxidize to
form Carbonmonoxide (CO) and Carbondioxide (CO,)

Statement (I1) : Anthropogenically emitted VOCs play an important role in the formation of smog

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827097389. 1
87827097390. 2
87827097391.3

87827097392. 4

Question Number : 38 Question Id : 87827024667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097389. 1

87827097390. 2

87827097391. 3

87827097392. 4

Question Number : 39 Question Id : 87827024668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following gases has the maximum contribution to Global Warming ?
(1)  Chlorofluorocarbons (CECs)

(2) Methane (CH,)

(3) Sulfur Hexa fluoride (SF)

(4)  Carbon dioxide (CO,)

Options :

87827097393. 1

87827097394. 2

87827097395. 3

87827097396. 4

Question Number : 39 Question Id : 87827024668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafed 9 9 forg 19 =1 AR afveas v | Faifues € 2
(1) FARREEA (9 T )
(2) e (CH,)
(3) HOHL T FANEE (SF)
(4) FHEA SEAFES (CO,)
Options :
87827097393. 1
87827097394. 2

87827097395. 3

87827097396. 4

Question Number : 40 Question Id : 87827024669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following are true about Persistent Organic Pollutants (POPs) ?
A) They are extremely widespread and occur from tropics to Arctic.

B) They often accumulate in food webs and reach toxic concentrations.

D) They are widely used as flame retardants and in deodrants.

(

(

(C) Volatile Organjc Compounds (VOCs) are examples of POPs,
(

E

—

Some chemicals used in making non-stick, waterproof and stain-resistant products are
categorized ag POPs,

Choose the correct answer from the options given below :
(1) (A)(B) (C)and (D) OIﬂY

(2) (), (€), (D) and (E) Onl

(3) (&), (B), (D) end (£ )Onlv
(4 (4), (C)and (E) Onl
Options :

87827097397. 1
87827097398. 2
87827097399. 3

87827097400. 4

Question Number : 40 Question Id : 87827024669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097397. 1
87827097398. 2
87827097399. 3

87827097400. 4

Question Number : 41 Question Id : 87827024670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hindu College in Banares set up by Annie Besant before Independence proposed to impart
(1)  Physical education

(2) Religious and moral education

(3) Western education

(4) Medical education

Options :

87827097401. 1



87827097402. 2
87827097403. 3

87827097404. 4

Question Number : 41 Question Id : 87827024670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097401. 1
87827097402. 2
87827097403. 3

87827097404. 4

Question Number : 42 Question Id : 87827024671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following Universities was the largest in the initial years of Lord Curzon's regime ?
(1) Calcutta

(2) Madras
(3) Bombay
(4)  Punjab

Options:

87827097405. 1



87827097406. 2
87827097407. 3

87827097408. 4

Question Number : 42 Question Id : 87827024671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827097405. 1
87827097406. 2

87827097407. 3
87827097408. 4

Question Number : 43 Question Id : 87827024672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following were the recommendations of the first educational conference held at
Shimla in 1901 ?

A)  Appointment of only Indians as Vice-Chancellors of Indian Universities
B) Importance to teaching and research in Sanskrit

(
(
(C) A thorough reform of Indian Universities
(D) Appointment of a Director-General of Indian education
(E) Co-ordination of rules for examinations

Choose the correct answer from the options given below :

(1) (A) (B and (C)Only

2) () (C)and (D) Only

(3) (C), (D) and (E) Only

4 (4) () and 5 Ol

Options :

878270974009. 1
87827097410. 2
87827097411.3

87827097412. 4

Question Number : 43 Question Id : 87827024672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) e (A), (B) R (O

(2) A (B), (C) ¥ (D)
(3) A (), (D) ¥ (B)
(4) A (A), (B) 4 (B)
Options :

87827097409. 1
87827097410. 2

87827097411. 3

87827097412. 4

Question Number : 44 Question Id : 87827024673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the administrative reforms in universities suggested by the National
Knowledge Commission ?

(A) Appointment of vice-chancellors based on their academic and administrative credentials
(B) De-politicisation of appointments

(C) Centralised control of universities

(D) Restrictions on academic freedom

(E) Creation of a good research environment

Choose the correct answer from the options given below :

(1) (4) (3)and (O Only

(2) (3 (C)and D) Only

(3) (C),(D)and E )Onlv

[4) (4) ) and (5 Ol

Options :

87827097413. 1
87827097414. 2
87827097415.3

87827097416. 4

Question Number : 44 Question Id : 87827024673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097413. 1
87827097414. 2
87827097415.3
87827097416. 4

Question Number : 45 Question Id : 87827024674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The monastery of Vikramasila, possessed a University with six colleges.

Statement (1) : Vikramasila was a well-known centre of Tantric Buddhism and attracted students
from other countries,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827097417. 1
87827097418. 2
87827097419. 3

87827097420. 4

Question Number : 45 Question Id : 87827024674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097417. 1
87827097418. 2
87827097419. 3

87827097420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701079
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827024675 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Bharat, the country of historical values and sentiments overflowing with cultures and religions,
changes with every mile, but is still known for preserving its rich cultural heritage. Moving towards
global tourism, the ministry of ports, shipping and waterways recently created an experience for people
that brought forth the historical, cultural and religious significance of our rivers, In January and February,
the global tourism and cruise sector was abuzz with the news of the world's longest river cruise MV
Ganga Vilas. The cruise covered nearly 32,000 K over 51 days, crossing 27 rivers systems across five
states and two countries, via the Ganga-Brahmaputra river system. Starting from the heart of Uttar
pradesh in Varanasi to Dibrugarh in Assam, it had several stops and visits to nearly 50 locations,

The Act East Policy of Prime Minister Narendra Modi and the focus on developing the national
waterways made this historic voyage a reality. It was also a true demonstration of Atmanirbhar Blarat
(self reliant India) with a domestically manufactured vessel, a fully Indian crew, Indian decor, Indian
cuisine, Indian art and craft, and products being showcased. The vessel with a zero-discharge policy
also used the Indian Oil Corporation manufactured green fuel with the Dolphin Deterrent Device.

Sub questions

Question Number : 46 Question Id : 87827024676 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The following are true about the country Bharat :
(A) It does not preserve its cultural heritage.
(B) It is overflowing with cultures.
(C) It does not have a variety of religions.
(D) It is a country of historical values.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options :
87827097421. 1
87827097422. 2
87827097423. 3

87827097424. 4

Question Number : 47 Question Id : 87827024677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about M V Ganga Vilas ?
(1) Itis a tourist spot.

2)

(3) Itis world’s longest reiver cruise.

(4) It covered nearly 32,000 Km over 27 days

It started from Haridwar.

Options:
87827097425. 1
87827097426. 2

87827097427. 3



87827097428. 4

Question Number : 48 Question Id : 87827024678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

M V Ganga Vilas is a true demonstration of self-reliant India because :
(A) The decor is done by Indian designers.

(B) It serves both Indian and Western cuisine.

(C) It showcases Indian arts and crafts.

(D) It is operated by an all Indian crew.

Choose the correct answer from the options given below :

(I) (A)and (B) Only
) (&), (), (C) and (D)
) (4), (C) and (D) Only
) |

(
3
(4)  (B), (C) and (D) Only

4
Options :

87827097429. 1
87827097430. 2
87827097431.3

87827097432. 4

Question Number : 49 Question Id : 87827024679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“This historic voyage” refers to :

(1) Global tourism

(2) Act East Policy of Prime Minister Narendra Modi
(3) MV Ganga Vilas cruise

(4) Development of National waterways



Options :

87827097433. 1
87827097434. 2
87827097435. 3
87827097436. 4

Question Number : 50 Question Id : 87827024680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : MV Ganga Vilas is an environment friendly vessel.

Statement (IT) : MV Ganga Vilas is not indigenously manufactured vessel

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement I s correct but Statement I 15 incorrect
4

4)  Statement 1 is incorrect but Statement II is correct

Options :

87827097437. 1
87827097438. 2
87827097439. 3
87827097440. 4

Question Id : 87827024675 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827024676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097421. 1
87827097422. 2
87827097423.3

87827097424. 4

Question Number : 47 Question Id : 87827024677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(1) 38 U qded Td ¢ |
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Options :
87827097425. 1
87827097426. 2

87827097427. 3

87827097428. 4

Question Number : 48 Question Id : 87827024678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(2) (A), (B), (C) ¥R (D)

(3) e (A), (C) ¥R (D)

(4) 9 (B), (C) 3 (D)

Options :

87827097429. 1

87827097430. 2

87827097431. 3
87827097432. 4

Question Number : 49 Question Id : 87827024679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097433. 1

87827097434. 2



87827097435. 3

87827097436. 4

Question Number : 50 Question Id : 87827024680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097437. 1

87827097438. 2

87827097439. 3

87827097440. 4

Labour Welfare
Section Id : 878270727
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92



Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701080
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 87827024681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who authored the book “The Nature of Managerial Work’ ?
(1) Peter Drucker
) Henry Mintzberg
(3) Chester I. Barnand
(4) Henri Fayol

—
3 2

-

Options :

87827097441. 1
87827097442, 2
87827097443. 3

87827097444. 4

Question Number : 51 Question Id : 87827024681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097441.1
87827097442. 2
87827097443. 3

87827097444. 4

Question Number : 52 Question Id : 87827024682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to whom, “management is the art of getting things done through people” ?
(I) Mary Parker Follet
Peter F. Drucker

2)

(3) Elton Mayo
(4)  Chester [ Barnad
Options :
87827097445. 1
87827097446. 2
87827097447. 3

87827097448. 4

Question Number : 52 Question Id : 87827024682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forgeR ST7ER ' yaYA @l 9 19 @ i kel § 2

(1) H Yrh Hieie

(2) U TH. g

(3) e Al

(4) <L E T
Options :

87827097445. 1
87827097446. 2
87827097447. 3

87827097448. 4

Question Number : 53 Question Id : 87827024683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which of the following is a single use plan ?
(1) Program

(2) Procedure

(3) Policy
(4) Rules
Options :

87827097449. 1
87827097450. 2
87827097451. 3

87827097452. 4

Question Number : 53 Question Id : 87827024683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fr=fafed 9 9 F Tehe 3T FsH 8 ?

(1) THHH

(2) 9gfshan

(3) ifd

(4) Frm
Options :

87827097449. 1
87827097450. 2
87827097451. 3

87827097452. 4

Question Number : 54 Question Id : 87827024684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who developed an approach that incorporates the organisation environment into organisational
design ?
J Joan Woodward

(1
(2) David H. Burnham
(
(

)

3) Tom Burns and G.M. Stalken
4)  Chester I Barnard
Options :

87827097453. 1
87827097454. 2
87827097455. 3
87827097456. 4

Question Number : 54 Question Id : 87827024684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
TSI TRE % ST Aehed H TRfd HTd hi Tae e i off?
(1) S qgaie

(2) Sfoe T, T

(3) M TE TS i, T, Rl
(4) =R HE

Options :

87827097453. 1
87827097454. 2
87827097455. 3

87827097456. 4

Question Number : 55 Question Id : 87827024685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Concept of “Hard HRM' and “Soft HRM' has been developed by :
(1) John Storey

(2) Vladmir Pucik

(3) Nina Hatvany

(4) Michael Beer
Options :

87827097457. 1
87827097458. 2
87827097459. 3

87827097460. 4

Question Number : 55 Question Id : 87827024685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

‘21 19 SR T 3R HIR U9 SR U & Heea fRan foenfag & ot ?

(1) =/

(2) SR T
(3) ¥ BEa
(4) HEHRA 97
Options :

87827097457. 1
87827097458. 2
87827097459. 3

87827097460. 4

Question Number : 56 Question Id : 87827024686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The Online systems that help employers attracts, gather, screen, compile and manage applicants is
Called ?

(1) Application Service Provider

(2) Application Screening Device
(3) Applicant Tracking Systems
(4)  Applicant Recruiting Systems
Options :

87827097461. 1
87827097462. 2
87827097463. 3

87827097464. 4

Question Number : 56 Question Id : 87827024686 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et Toufer, S S o SR, T, W SR A a0 S @ W €,
e &/

Options :

87827097461. 1
87827097462. 2
87827097463. 3
87827097464. 4

Question Number : 57 Question Id : 87827024687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a method of HR Demand Forecasting ?
(1) Managerial Judgement
2) Markov Analysis
) Scatter plot
) Ratio Analysis

S5

(4
Options :

87827097465. 1
87827097466. 2
87827097467. 3

87827097468. 4

Question Number : 57 Question Id : 87827024687 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frafafad 9 ¥ FF-91 979 99157 |41 QEAM S T T8 § 2
R ELEIRREEED

(2) Hepre favetso
(3) Ehet wile

(4) U oy
Options :

87827097465. 1
87827097466. 2
87827097467. 3

87827097468. 4

Question Number : 58 Question Id : 87827024688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A group of jobs having similarities in comparable factors or those considered as existing at the
same level in terms of their values is called ?

(1) Py grade
(2) Pay range
B)Pwam

(4) Pay standar
Options :
87827097469. 1
87827097470. 2
87827097471. 3

87827097472. 4



Question Number : 58 Question Id : 87827024688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ieg 1 g, o e e W o el W ) o g e o e A €
Ww%?

(1) o

Q) aaﬂa

(3) A

(4) e
Options :
87827097469. 1
87827097470. 2
87827097471. 3

87827097472. 4

Question Number : 59 Question Id : 87827024689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Hofstede making a study an national culture identified four dimensions along with managers and
employees appear to vary. Which one of the following is not a dimension as identified by
him ?

(1) Power distance

(2) Relationship to authority

(3)  Uncertainty avoidance

4

4) - Masculinity versus femininity

Options :
87827097473. 1
87827097474. 2

87827097475. 3



87827097476. 4

Question Number : 59 Question Id : 87827024689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RIS 4 T8 W T W A9 o W RS 6 T S TEE W s
firramyefita o & Feafefm 9 o #iR-m arm ¢ fwe S v 7 e a2
1) & (i)

Options :

87827097473. 1
87827097474. 2
87827097475. 3

87827097476. 4

Question Number : 60 Question Id : 87827024690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A performance appraisal method which keeps a record of uncommonly good or undesirable and

reviewing it with the employee at predetermined times is known as:
(1) Citical incident method

(2) Behaviourally anchored rating scale
(3) Alteration ranking method

(4)  Management by objectives
Options :

87827097477.1



87827097478. 2
87827097479. 3

87827097480. 4

Question Number : 60 Question Id : 87827024690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e e e oy e et o - e 6 SRR o1 0 e S
o1 fre Tt € o e e o e o el 30 e A, R

) it e oy
) R 9 4 Frefm T f
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Options :

L
(
(
[

87827097477.1
87827097478. 2
87827097479. 3

87827097480. 4

Question Number : 61 Question Id : 87827024691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



If the top management of a multinational corporation, allows the national subsidiaries to fill
management posts by themselves with host country national, then the atitude of the management
is characterised by :

(1) Polycentricity
(2) Ethnocentricity
(3) Regiocentricity
(4)  Geo centricity
Options:
87827097481. 1
87827097482. 2
87827097483. 3
87827097484. 4

Question Number : 61 Question Id : 87827024691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A R ) h S-S 1 el e T ) Fe ¥ o ] 1 976 S o 3 el
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Options :

87827097481. 1
87827097482. 2
87827097483. 3
87827097484. 4

Question Number : 62 Question Id : 87827024692 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is vestibule training ?
(1) On - the job training

k3

(2) Apprenticeship training
(3) Job rotation training

(4) Off the job training
Options :

87827097485. 1

87827097486. 2

87827097487. 3

87827097488. 4

Question Number : 62 Question Id : 87827024692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Tr=fafed sE-a1 g gftego g2
(1) 9IS Y T hifHh] 61 HE qfoemo
(2) gfoeg ufvrero
(3) hE-3EdT TiET
(4) RIS H BT K Gfeeqor
Options :
87827097485. 1
87827097486. 2

87827097487. 3

87827097488. 4

Question Number : 63 Question Id : 87827024693 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The linking pin model given by Rensis Likert is associated with :
(1) Intra - individual behaviour and conflict

(2) Inter personal behaviour and conflict
(3) Intergroup behaviour and conflict
(4) Inter organisational behaviour and conflict

Options :

87827097489. 1
87827097490. 2
87827097491. 3

87827097492. 4

Question Number : 63 Question Id : 87827024693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
it forere g0 ggd T e fedfebr-fom wiea fFretfafad 9 defud @
(1) 3id: Jafee FaeR Td G

(2) HT-oFfkTF TR T8 o
(3) IR TIER TS gy
(4) ST GRS Teer Td H
Options:

87827097489. 1
87827097490. 2
87827097491. 3
87827097492. 4

Question Number : 64 Question Id : 87827024694 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is identified as the third dimension in the Reddin’s Three Dimensional
Model of Leadership ?

(1) Effectiveness
) Environments
) Motivation
)

4)  Conflict

3
Options :

87827097493. 1
87827097494. 2
87827097495. 3

87827097496. 4

Question Number : 64 Question Id : 87827024694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097493. 1
87827097494. 2
87827097495. 3
87827097496. 4



Question Number : 65 Question Id : 87827024695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following had identified the three different skills namely, conceptual skills, human

relations skills and technical skills for effective management ?
1) Robert Blake

2)  Robert ]. House
3)
)

(
(
(3) Robert Katz

(4)  Robert Hoxie
Options :
87827097497. 1
87827097498. 2
87827097499. 3

87827097500. 4

Question Number : 65 Question Id : 87827024695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1)
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) uaéaa%ﬂ
Options:
87827097497. 1
87827097498. 2

87827097499. 3



87827097500. 4

Question Number : 66 Question Id : 87827024696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The 5-0-B-C model of organisational behaviour identifies four major variables, which are related
to another, Which of the following stands for the letter’s’ ?

Structure
Stimulus

Options :

87827097501. 1
87827097502. 2
87827097503. 3

87827097504. 4

Question Number : 66 Question Id : 87827024696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

TG o7 1 5-0-B-C et R Wi 7@ 1 ot e o & 1 o -t A i 0 €
foefan -3 fares 1 94 S o 4 el 8

Options :

87827097501. 1



87827097502. 2
87827097503. 3

87827097504. 4

Question Number : 67 Question Id : 87827024697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was the main architect of the legislation ‘the Bombay Industrial Disputes Act. 1938’ being the
Parliamentary Secretary in the Bombay Congress Ministry ?

(1) Gulzarilal Nanda

(2) Jaiprakash Narayan
(3) NM. Joshi

(4) Balgangadhar Tilak
Options :
87827097505. 1
87827097506. 2
87827097507. 3

87827097508. 4

Question Number : 67 Question Id : 87827024697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097505. 1
87827097506. 2
87827097507. 3
87827097508. 4

Question Number : 68 Question Id : 87827024698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Every class struggle is a political struggle” who said this ?

(1) Lenin

(2) Karl Marx

(3) G.D.H Cole
(4) Fedrick Engele
Options:

87827097509. 1
87827097510. 2
87827097511. 3

87827097512. 4

Question Number : 68 Question Id : 87827024698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097509. 1
87827097510. 2
87827097511. 3
87827097512. 4

Question Number : 69 Question Id : 87827024699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The criteria for the recognition of trade Unions have been laid down under :
(1) The Industrial Disputes Act, 1947
2)  The Trade Unions Act, 1926
) Code of Discipline
) Industrial Employment (Standing orders) Act, 1946

a2

(4
Options:

87827097513. 1
87827097514. 2
87827097515. 3

87827097516. 4

Question Number : 69 Question Id : 87827024699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad forae st gm-gsi &1 7= 8 9Fee fou mu g ?
(1) irEnfie foare sifufwm, 1947

(2) 99-99 3MfufTam-1926
(3)
(4)

[R—

3)  STIA-fed
4)  3irEnfire e (R oTe) srfufEm, 1946



Options :

87827097513. 1
87827097514. 2
87827097515. 3
87827097516. 4

Question Number : 70 Question Id : 87827024700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which pair of Scheme of workers participation and the year of its establishment is inconsistent ?
(1) Works Committee - 1947

(2)  Joint Management council - 1938

(3) Shop Council - 1972

(4)  Joint Council in Commercial and service Organisation in the public sector - 1977
Options:

87827097517. 1

87827097518. 2

87827097519. 3

87827097520. 4

Question Number : 70 Question Id : 87827024700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR - ST ot A1 T 3eh e (e 2 o 0l o -1 37 T |
(1) 0 i - 1947

2) agaauawﬁaa 1958

(3) M gEHH ) e - 1972
(4)

Options:

87827097517. 1
87827097518. 2
87827097519. 3
87827097520. 4

Question Number : 71 Question Id : 87827024701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Astrike called by proper authority in a Union and in conforming with the requirement of law” is
called ?

(1) Wild cat strike
() Authorised strike
(3)  Juristicational strike
(4) General Strike
Options :
87827097521. 1
87827097522. 2
87827097523. 3

87827097524. 4

Question Number : 71 Question Id : 87827024701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

87827097521. 1
87827097522. 2
87827097523.3

87827097524. 4

Question Number : 72 Question Id : 87827024702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who has developed the “Hot-Stove Rule” for handling discipline ?
(1) Donglas McGregor

) Michael ]. Jucius

) Charles A. Myers

)  Henri Fayol

=T )

(4
Options :

87827097525. 1
87827097526. 2
87827097527. 3

87827097528. 4

Question Number : 72 Question Id : 87827024702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
AT < Hrell < fou ' gre-Rra-wa ' & foa faskfad fran g ?
(1) e HHIR

Options :

87827097525. 1
87827097526. 2
87827097527.3

87827097528. 4

Question Number : 73 Question Id : 87827024703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the minimum and maximum numbers prescribed under the Industrial Disputes Act,
1947 for" Protected workmen” ?

(1) Minimum 20 and Maximum 100

2)  Minimum 15 and Maximum 7
3)  Minimum 10 and Maximum 3
)

(
(
(4)  Minimum 5 and Maximum 100
Options :

87827097529. 1
87827097530. 2
87827097531. 3

87827097532. 4

Question Number : 73 Question Id : 87827024703 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

eI feere, AW, 1947 o S’ ST ST 6 20 A e s o foeffea 2
(1) T 20 740 S 100
(2) T 15 90 e 75
(3) 10 T o 50
(4) T 5 7 AfeeRH 100
Options :

87827097529. 1
87827097530. 2
87827097531. 3

87827097532. 4

Question Number : 74 Question Id : 87827024704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which method of settling industrial disputes does not include direct state intervention ?
(1) Statutory Establishment of Bipartite Committee

(2) Adjudication

(3) Collective Bargaining

(4)  Compulsory Conciliation

Options :

87827097533. 1

87827097534. 2

87827097535. 3

87827097536. 4

Question Number : 74 Question Id : 87827024704 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(4

87827097533. 1
87827097534. 2
87827097535. 3
87827097536. 4

Question Number : 75 Question Id : 87827024705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Right of Children to Free and Compulsory Education Act, 2009 was enacted in accordance
with which of the following Article of Constitution in India ?

) Article 41
) Atticle 38
) Article 19
) Article 47

¢
2
3
¢
Options :

87827097537. 1
87827097538. 2
87827097539. 3

87827097540. 4

Question Number : 75 Question Id : 87827024705 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097537. 1
87827097538. 2
87827097539. 3

87827097540. 4

Question Number : 76 Question Id : 87827024706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the Constitution of India provide for the participation of workers in management of
industries ?

(1) Article 39 A

(2) Article 41
(3) Atrticle 43 A
(4) Article 43 B
Options:
87827097541. 1
87827097542. 2
87827097543. 3

87827097544. 4



Question Number : 76 Question Id : 87827024706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097541. 1
87827097542, 2
87827097543.3

87827097544. 4

Question Number : 77 Question Id : 87827024707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Site Appraisal Committee is required to submit the report to the state Government after how
many days of the receipt of an application for establishment of a factory involving a hazardous
process under the Factories Act, 1948 ?

(1) Thirty days
) Sixty days
) Ninety days
)

4) - One hundred twenty days

2
3
Options:

87827097545. 1
87827097546. 2

87827097547. 3



87827097548. 4

Question Number : 77 Question Id : 87827024707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097545. 1
87827097546. 2
87827097547. 3

87827097548. 4

Question Number : 78 Question Id : 87827024708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The term “Wages' under the Contract Labour (Regulation and Abolition) Act, 1970 has the same
meaning assigned to it under which of the following legislations ?

(1) The Industrial Disputes Act

) The Payment of Wages Act

5)  The Industrial Employment (Standing Orders) Act
)

2
[
(4)  The Minimum Wages Act

Options :

87827097549. 1



87827097550. 2
87827097551. 3

87827097552. 4

Question Number : 78 Question Id : 87827024708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097549. 1
87827097550. 2
87827097551. 3

87827097552. 4

Question Number : 79 Question Id : 87827024709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Advisory Board constituted under the Minimum Wages Act, 1948 is to :
(1) Advise the employers to pay minimum wages as fixed under the Act

(2) Coordinate the works of committees and sub-committees

(3) Coordinate the work of the advisory committee

(4) Coordinate between the employer and employees to fix minimum wages

Options :



87827097553. 1
87827097554. 2
87827097555. 3

87827097556. 4

Question Number : 79 Question Id : 87827024709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097553. 1
87827097554. 2
87827097555. 3

87827097556. 4

Question Number : 80 Question Id : 87827024710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Under the provisions of the Minimum Wages Act, 1948 the representation of independent members
in the Central Advisory Board shall not exceed.

(1) One fourth of the total members

) One half of the total members
9
g

One third of the total members
Two third of the total members

e
(
(



Options :

87827097557. 1
87827097558. 2
87827097559. 3
87827097560. 4

Question Number : 80 Question Id : 87827024710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097557. 1
87827097558. 2
87827097559. 3
87827097560. 4

Question Number : 81 Question Id : 87827024711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the minimum number of persons to be nominated by the appropriate Government to the
Advisory Committe constructed under the provisions of the Equal Remuneration Act, 1976 ?

Options:

87827097561. 1
87827097562. 2
87827097563. 3

87827097564. 4

Question Number : 81 Question Id : 87827024711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097561. 1
87827097562. 2
87827097563. 3
87827097564. 4

Question Number : 82 Question Id : 87827024712 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An exempted establishment formed under the provisions of the Employees Provident Fund and
Miscellaneous Provisions Act, 1952 required to establish, which of the following for the
administration of the fund ?

(1) Exempted Provident Fund Board
(2) Board of Trustees

(3) An Executive Committee

(4)  An Establishment level Committee
Options :

87827097565. 1

87827097566. 2
87827097567. 3

87827097568. 4

Question Number : 82 Question Id : 87827024712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097565. 1
87827097566. 2
87827097567. 3

87827097568. 4



Question Number : 83 Question Id : 87827024713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Who defined Social Welfare as :

"The organised system of social services and institutions designed to aid individuals and groups to
attain satisfying standards of life and health, and personal and social relationship which permit
them to develop their full capacities and to promote their well being in harmony with the needs of
their families and community”

Choose the correct option :

1) RR Hopkins

) Friedlender

) Arther James Todd

) ES. Proud

Options :

87827097569. 1
87827097570. 2
87827097571.3
87827097572. 4

Question Number : 83 Question Id : 87827024713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097569. 1
87827097570. 2
87827097571.3

87827097572. 4

Question Number : 84 Question Id : 87827024714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which welfare amenity is NOT included in intra-mural amenity by the committee of exports on
welfare facilities for industrial workers constituted by the - International Labour Organisation in
the year 1963 ?

Choose the correct option :

(1) Washing and bathing facilities

(2) Latrines and urinals

(3) Leave travel factlities

(4) Health services including occupational safety

Options :
87827097573. 1

87827097574. 2



87827097575. 3

87827097576. 4

Question Number : 84 Question Id : 87827024714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
a0 1963 % ST 9 WA 3 oA aﬂﬁﬁ%mﬁ%quﬁgmaﬁmﬁm—ﬂﬁﬁw
forg AR G- 1 . (S A i e o e 7
H@faw il
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(3) - ()0 e
(4) ST T W T g
Options :
87827097573. 1
87827097574. 2

87827097575. 3

87827097576. 4

Question Number : 85 Question Id : 87827024715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Access to social security has become a fundamental human right to which every individual is
entitled as a member of the society. This right has been embodied in the Universal Declaration of
Human Rights adopted by United Nations General Assembly. In which years, it was adopted ?
Choose the correct option :

(1) In the year 1948

(2) In the year 196

(3) In the year 190

(4) In the year 192

Options :

87827097577. 1

87827097578. 2

87827097579. 3

87827097580. 4

Question Number : 85 Question Id : 87827024715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

87827097577.1
87827097578. 2

87827097579. 3



87827097580. 4

Question Number : 86 Question Id : 87827024716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When was the Royal Commission on Labour was appointed under the Chairmanship of J.H.
Whitley ?

Choose the correct option :
1) In the year 1919
) In the year 1929
) Inthe year 1938
) 1

4)  In the year 1944

(9;
Options :

87827097581. 1
87827097582. 2
87827097583. 3

87827097584. 4

Question Number : 86 Question Id : 87827024716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827097581. 1
87827097582. 2
87827097583. 3

87827097584. 4

Question Number : 87 Question Id : 87827024717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The shape of supply curve of Individual Labour is :
(1) Backward bending

(2) Straight Line

(3) Negatively sloped

(4) Perpendicular to the X axis

Options :

W [

87827097585. 1
87827097586. 2
87827097587. 3

87827097588. 4

Question Number : 87 Question Id : 87827024717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827097585. 1
87827097586. 2
87827097587. 3

87827097588. 4

Question Number : 88 Question Id : 87827024718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Advanced capitalist economies generally suffer from which type of unemployment ?
(1) Structural Unemployment

) Classical Unemployment

) Disguised Unemployment

) Cyclical Unemployment

2 b

(4
Options :

87827097589. 1
87827097590. 2
87827097591. 3

87827097592. 4

Question Number : 88 Question Id : 87827024718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



87827097589. 1
87827097590. 2
87827097591. 3

87827097592. 4

Question Number : 89 Question Id : 87827024719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is true as per modern Economists ?
(1) Cut in money wage is the best way to increase Labour demand and bring full employment
(2) Expansionary monetary policy is effective in increasing employment

(3) Flexible wage policy is instrumental in achieving full employment

(4)  Money illusion does not affect labour union

Options :

87827097593. 1

87827097594. 2

87827097595. 3

87827097596. 4

Question Number : 89 Question Id : 87827024719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



87827097593. 1
87827097594. 2
87827097595. 3

87827097596. 4

Question Number : 90 Question Id : 87827024720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n an income leisure diagram the wages rate is graphically represented by the :

(1) Slope of indifference curve
2

—

)

) Curvature of indifference curve

) Slope of the budget line

) Tangency of budget line with indifference curve

2

(4
Options :

87827097597. 1
87827097598. 2
87827097599. 3

87827097600. 4

Question Number : 90 Question Id : 87827024720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o fagifaeere sTee o Tl &1 o &1 W wey | fef e s e

(1) 3T 9k i Joord §
(2) M ok i kAl 9
(3) o2 W@ H YUl §
(4) o 7@ TEEA 9 & TY T

Options :



87827097597. 1
87827097598. 2
87827097599. 3

87827097600. 4

Question Number : 91 Question Id : 87827024721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is/are correct relating to the system approach to management ?
(A) A system is an interrelated set of elements punching as a whole

(B) Each system has a boudary that separates it from its environment

(C) Each system interacts with its environment

(D) Feedback is not the key to control the system

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B)and (C) Onl

(3) (A), (B)and (C )Onlv
(4) (4),(C) and (D) Only
Options :

87827097601. 1
87827097602. 2
87827097603. 3

87827097604. 4

Question Number : 91 Question Id : 87827024721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A) Town T@l 1 sFiamg 9594 € S el 5 < e g |

(B) Yok ferew il Wk SiH1 Al € S 36 ST WREW | T el €
(C) Yok Tqwm o1 afiaw § st=ifordl ! 2 |

(D) fowm =it fader 1 9ot whagfee 7 &

i fou u faredl | 9 WE ST I TG HifIT:

(1) 9 (A) S (B)

(2) A (B) R (C)

(3) e (A), (B) ¥ (C)

(4) @9 (A), (C) ¥R (D)

Options :

87827097601. 1

87827097602. 2

87827097603. 3
87827097604. 4

Question Number : 92 Question Id : 87827024722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is/are not the functions of management according to Henri Fayol ?
A) Staffing

(

(B) Organisation

(C) Controlling

(D) Commanding

(E) Coordinating

Choose the correct answer from the options given below :

(1) (A) Only

2 ()Only

() (E) Onl

4 () and( ) Only
Options:

87827097605. 1
87827097606. 2
87827097607. 3
87827097608. 4

Question Number : 92 Question Id : 87827024722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C) hgifetT
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i fou 7 fasmedl d 9 War AL A TI Hif;
(1) <R (A)

(2) <= (D)

(3) I (E)

(4) % (D) 3 (E)

Options :

87827097605. 1
87827097606. 2
87827097607. 3

87827097608. 4

Question Number : 93 Question Id : 87827024723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the advantages of group decision making ?
A) More information and knowledge are available

(
(B) Enhanced communication of decision may result
(C) Undesirable compromises may happen

(D) Groupthink may occur

(E) Itis costlier

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (A) and (D) Onl

(3) (A) (B)and (D )OnJY
(4) (A), (B) and (C) Only
Options:

87827097609. 1
87827097610. 2
87827097611. 3

87827097612. 4

Question Number : 93 Question Id : 87827024723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1)
(2)
(3)
(4)
Options :
87827097609. 1
87827097610. 2
87827097611. 3
87827097612. 4

Question Number : 94 Question Id : 87827024724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is/are not form of simulation ?
A) Role playing
B) Coaching

D) Conference

(

(

(C) Business game

(

(E) In basket exercise

Choose the correct answer from the options given below :
(1) (B) and (C) Only

(2) (B) and (D) Only

(3)  (A) (B) and (D) Only

(4)  (B), (C) and (D) Only

Options:

87827097613. 1

87827097614. 2

87827097615. 3

87827097616. 4

Question Number : 94 Question Id : 87827024724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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i fou Tu fasmedi | 9 W& SR F 99 HifST:
(1) =@ (B) 3R (O

(2) 9 (B) ¥R (D)

(3) e (A), (B) 3R (D)

(4) e (B), (C) IR (D)

Options:

87827097613. 1
87827097614. 2
87827097615. 3
87827097616. 4

Question Number : 95 Question Id : 87827024725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is/are not the components of direct compensation ?
A) House rent allowance

B) Pay for vacations

D) Incentives

E) Bonus

Choose the correct answer from the options given below :
(1) (B)and (C) Only

(
(
(C) Employer’s contribution towards PF
(
(

(2) (B) and (D) Only
(3) (B), (C) and (D) Only
(4) (Q), (D) and (E) Only
Options:

87827097617. 1
87827097618. 2
87827097619. 3

87827097620. 4

Question Number : 95 Question Id : 87827024725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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E) <H9
=< fou U faswedi § 9 W&l SO 1 994 HIWT;
(1) Fd (B) 3R (C)
(2) <9 (B) &R (D)
(3) e (B), (C) ¥R (D)
(4) % (C), (D) 3R ()
Options :

87827097617. 1
87827097618. 2
87827097619. 3

87827097620. 4

Question Number : 96 Question Id : 87827024726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true relating to human personality ?
(A) The word personality can be traces to the Latin words “per sona’

(B) 'The meaning of the word ‘per sona” when translated into English is “to look through”
(C) Human personality includes the external appearance and behaviour
(D) Human personality includes inner awareness of self as a permanent organising force

Choose the correct answer from the options given below :
(1) (A),(B)and (D) Only

(2) (&), (C) and (D) Only
(3) (A), (B) and () Only
(4 (8),(C) and (D) Onl
Options:

87827097621. 1
87827097622. 2
87827097623. 3
87827097624. 4

Question Number : 96 Question Id : 87827024726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) % (), (B) 4R (D)

2) % (), (C) & (D)
(3) @ (A), (B) R (C)
(4) % (B), (C) K (D)
Options :
87827097621. 1
87827097622. 2

87827097623. 3

87827097624. 4

Question Number : 97 Question Id : 87827024727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the Decisional Roles of the managers as identified by Henry
Mintzberg ?

(A) Figurehead role

(B) Leadership role

(C) Negotiator role

(D) Entrepreneurs role

(E) Disturbance handler role

Choose the correct answer from the options given below :
(1) (C), (D)and (E) Only

(9) (A) (B and D) Ony

(3) (B)(C)and (D )Onlv

(4 (4)(B)and (O Ol

Options :

87827097625. 1
87827097626. 2
87827097627.3

87827097628. 4

Question Number : 97 Question Id : 87827024727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) T - YfF

(B) g yferH

(C) amihT e

(D) et s

(E) wrifd-%mqeh y]feent
T fou mu fasredl § 9 WE I 1 99 Hifu
(1) % (C), (D) ¥R (E)
(2) 9 (A), (B) 3R (D)
(3) ad (B), (C) 4R (D)
(4) 9 (A), (B) 4R (C)
Options :

87827097625. 1
87827097626. 2
87827097627. 3

87827097628. 4

Question Number : 98 Question Id : 87827024728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per Herzberg's two factor theory of motivation which of the following are the motivators ?
A) Interpersonal relations

(

(B) Achievement
(C) Advancement
(D) Supervision

(E) Responsibility

Choose the correct answer from the options given below :
(1) (A), (B)and (D) Only

) (B)(C)and (E)Ony

(3)  (8)(C)and (D) Only

[4)  (A) (0)and E)Only

Options:

87827097629. 1

87827097630. 2

87827097631. 3

87827097632. 4

Question Number : 98 Question Id : 87827024728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097629. 1
87827097630. 2
87827097631.3
87827097632. 4

Question Number : 99 Question Id : 87827024729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements can contribution for developing HRD climats in an
organisation ?

(A) Strong belief of the top management on the capabilities of the employees

(B) HRD policies showing high concern for employees

(C) Good HRD sub systems for increasing effectiveness

(D) Presence of strong trade Unions in the organisation

Choose the correct answer from the options given below :

(1) (8), (C) and (D) Only

() (4)(C) and (D) Onl
(3)(A), (B)and (C) Only
(4) (A), (B) and (D) Only
Options:

87827097633. 1
87827097634. 2
87827097635. 3

87827097636. 4

Question Number : 99 Question Id : 87827024729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 100 Question Id : 87827024730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following factors influence the multi-national corporations to recruit host country
nationals ?

(A) They are familiar with the culture

(B) To maintain and facilitate organisational coordination and control

(C) To develop good public relations

(D) The company's conviction that it must maintain a foreign image in the host country
Choose the correct answer from the options given below :

(1) (A)and (D) Only

(2) (B)and (C )Only
(3) (A) and (C) Onl
(4) (B) and (D) Only
Options:

87827097637. 1
87827097638. 2
87827097639. 3

87827097640. 4

Question Number : 100 Question Id : 87827024730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 101 Question Id : 87827024731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following factors had played legitimate part in the formation of the Madras Labour
Union ?

(A) the status of the labourer as labourer in relation to his employer, affecting the economic and
industrial lite of the country.,

(B)  the status of the labourer as a citizen affected by and affecting the political movement and
their result

(C) the status of the labourer in the international world of labour which has been emerging into
great importance ever since the Russian revolution,

(D) the status of the Indian crony capitalism that forces the labour to be associated and form
trade union,

Choose the correct answer from the options given below :
(1) (4) and (B) Only

(2) (), (B)and (C) Only

(3) (4),(C) and (D) Only

(&) (), (C) and (D) Only

Options:

87827097641. 1

87827097642. 2

87827097643. 3

87827097644. 4

Question Number : 101 Question Id : 87827024731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following three-tier system of participation was recommended by a Tripartite
Committee on Worker's Participation in 1977 under the Chairmanship of Shri Ravindra Verma ?

(A)  Unit Level

(B) Shop floor Level

(C) Plant Level

(D) Corporate Level

Choose the correct answer from the options given below :
(1) (4) (3)and (0 Onl

) (&) Qamd) Only

(5) (B () and () Only

(4) (A), (B) and (D) Only

Options:

87827097645. 1
87827097646. 2
87827097647.3

87827097648. 4

Question Number : 102 Question Id : 87827024732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Minimum Instruction Time : 0
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Which of the following All India Trade Union organisations were in existence by the end of
19337

(A) Al India Trade Union Congress

(B) The Red Trade Union Congress

(C) National Trade Union Federation

(D) Indian Trade Union Federation

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B)and (C)Onl

(3) (&) (B)and C )Onlv

(4 (8),(C) and (D) Only

Options:

87827097649. 1
87827097650. 2
87827097651. 3

87827097652. 4

Question Number : 103 Question Id : 87827024733 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827097649. 1
87827097650. 2
87827097651. 3

87827097652. 4

Question Number : 104 Question Id : 87827024734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct relating to lockout ?
(A) A lockout is the closure of a place of business or employment or the suspension of work.
(B) A lockout is an antithesis of a strike,

(C) Alockoutis the closure of an industrial undertaking because of the existence of or apprehension
of an industrial dispute, violence and damage.

(D) A lockout means termination of employment by retrenchment
Choose the correct answer from the options given below :
(1) (A),(B)and (C) Only

(2) (8), () and (D) Only
(3) (A, (C) and (D) Only
(4) (C) and (D) Only
Options:

87827097653. 1
87827097654. 2
87827097655. 3

87827097656. 4

Question Number : 104 Question Id : 87827024734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 105 Question Id : 87827024735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the role of inspectors appointed by the government under respective
labour legislations ?

(A) Enforce the labour law and related regulations.
(B) Advice employers and workers on how to comply with the laws and regulations,

(C) Issue show cause notice to offending employers for not complying with provisions of the
law.

(D) File prosecution in the concerned courtif despite show cause notice compliance is not secured
in time,
(E) Toinvestigate the dispute as arbitrator and submit the report before the appropriate authority.

Choose the correct answer from the options given below :

(1) (4), (), (C) and (D) Only

2 ()(C)r()ﬂnd()omy
(3) (A) (C), (D) and (E) Onl
(4 (A) () D)an ()Oﬂlv
Options:

87827097657. 1
87827097658. 2
87827097659. 3

87827097660. 4

Question Number : 105 Question Id : 87827024735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 106 Question Id : 87827024736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



As per the provisions of the Inter-State Migrant Workmen (Regulation of Employment and
Conditions of Service) Act, 1979, the duties of the contractor includes :

(A) to furnish such particulars in the form prescribed to the specified authority in the state from
which, the infer-state migrant workman is recruited.

(B) to issue every inter-state migrant workman, a pass book affixed with a passport size
photograph indicating the details of employment, payment of wages, working hours efc.

(C) to provide retention allowance to the inter-state migrant workman when not in employment.

(D) to furnish in respect of every inter-state migrant workman who ceases to be employed, a
return in such form and in such manner as prescribed to the specified authority in the state
form which, he is recruited.

Choose the correct answer from the options given below :
(1) (4),(B)and (C) Only

(3 (&) and (C) Only

(3 () (C)and (D) Only

(4 (4) (B)and (D) Only

Options:

87827097661. 1

87827097662. 2

87827097663. 3
87827097664. 4

Question Number : 106 Question Id : 87827024736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827097663. 3
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Question Number : 107 Question Id : 87827024737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The certifying surgeon appointed under the provisions of the Mines Act, 1952 shall perform which
of the following duties ?

(A) the examination of person engaged in a mine in such dangerous occupation or process.

(B) to conduct medical supervision as may be prescribed for any mine where cases of illness
have occurred.

(€) to conduct enquiry into any accident happened in the mine,
(D) for payment of disability allowances to the persons confit to work in the mine

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

() (A)and (3 Only

(3) (A)and (D) Only

(4 (A) (B) (C)and (D) Only
Options:

87827097665. 1
87827097666. 2
87827097667. 3
87827097668. 4

Question Number : 107 Question Id : 87827024737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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As per the provisions of the Building and other Construction Workers (Regulation of Employment
and Conditions of Service) Act, 1996, the appropriate Government may make rules to

(A) Fix the number of hours of work which shall constitute a normal working day.

B) Provide for a day of rest in every period of seven days,

) Provide for payment of work on a day of rest not less than the average daily wage.
)

Fix the number of hours of work for a normal working day inclusive of one or more specified
intervals.

(E)  Payment of full remuneration in respect of such days of rest.

Choose the correct answer from the options given below :

(1) (4)and () Onl

A), (B) and (C) Onl

A; ,(8) (D )ﬂnd()OM}’

A),(B) (C) and (E) Only

(
3
4

) |
) |
) |
Options :

87827097669. 1
87827097670. 2
87827097671. 3

87827097672. 4

Question Number : 108 Question Id : 87827024738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827097669. 1

87827097670. 2

87827097671. 3
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Question Number : 109 Question Id : 87827024739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statement is/are not correct with regard to the applicability of the Employees
Provident Fund and Miscellaneous Provisions Act, 1952 7

(A) toevery establishment which is a factory engaged in manufacture specified in Schedule-] of
the Act

(B) to any establishment reistered under the cooperative societies Act, 1912 employing less
than 50 person working without the aid of power.

(C) to an establishment belonging to or under the control of the Central Government or a State
Government whose employees are entitled to the benefit of confributory provident fund.

(D) to any other establishment set up under any Central, Provincial or State Act and where
employees are entitled to contributory provident fund and old age pension.

Choose the correct answer from the options given below :
(1) (4) Only

(2) (A)and (B) Only

(3) (A)and (C) Only

(4 (8),(C) and (D) Only

Options:

87827097673. 1

87827097674. 2

87827097675. 3

87827097676. 4

Question Number : 109 Question Id : 87827024739 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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As per the provisions of the Employees Provident Fund and Miscellaneous Provisions Act, 1952, a
pension fund to be created with which of the followings ?

(A) Such sum from the employers contribution not exceeding eight and one-third percent of the
basic wage, dearness allowance and retaining allowances, of any of the concerned employee.

(B) Such sum as are payable by the employers of the exempted establishments.

(C) The net assets of the Employees Family Pension Fund as on the date of the establishment of
the Pension Fund,

(D) Such sum from the employees contribution not exceeding one and one-third percent of the
basic wage and dearness allowance or retaining allowances, if any

(E) Such sum as the Central Government may, after due appropriation by the parliament by
law.

Choose the correct answer from the options given below :

(1) (A), (B)and (C) Only

2) (A),(B), (C) and (D) Only

(3) (4), (B) (C) and (E) Only

(4) (&) (B),(C), (D) and (£) Only

) (A), @)
) (A) ()
) |
Options:
87827097677. 1
87827097678. 2

87827097679. 3
87827097680. 4

Question Number : 110 Question Id : 87827024740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0



Which is NOT a principle of Labour Welfare ?
A) Principle of Social Responsibility of Industry

B) Principle of Re-personalisation

D) Principle of Public Relation

E) Principle of Totality of Welfare
Choose the correct answer from the options given below :
(1) (A) and (E) Only
Oy

(
(
(C) Principle of Trusteeship
(
(

Options:

87827097681. 1
87827097682. 2
87827097683. 3

87827097684. 4

Question Number : 111 Question Id : 87827024741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Whichamong the following is NOT included under Statutory Welfare measure pertaining to canteen
factlity ?

(A) Section 46 of Factories Act, 1948

(B) Section 11 of Plantation Labour Act, 191

(C) Section 44 of Factories Act, 1948

(D) Section 12 of Plantation Labour Act, 1951

(E) Section 16 of Contract Labour (Regulation and Abolition) Act, 1970

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (C)and (D) Only
(3) (A)and (E) Only
(4) (B)and (D) Only
Options :
87827097685. 1
87827097686. 2
87827097687. 3

87827097688. 4

Question Number : 112 Question Id : 87827024742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Which is NOT a theory of Labour Welfare ?
A) The Police Theory of Labour Welfare

(
(B) The Theory of Adequacy of Wage

(C) The Philanthropic Theory

(D) The Theory of Efficiency

(E) The Placating Theory

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (C) and (E) Onl

(3) (B)and (D) om-,;
(4) (D) and (E) Only
Options:

87827097689. 1
87827097690. 2
87827097691. 3

87827097692. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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Question Number : 114 Question Id : 87827024744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wage-goods strategy of development was propounded by :
(A) C.N. Vakil

(B) P.R. Brahmananda

(C) Amartya Sen

(D) Abhijit Sen

(E) A.R. Desai

Choose the correct answer from the options given below :
(1) (A) and (E) Only

(2) (C€) and (D) Only

(3) (A) and (B) Only
(4) (B) and (D) Only
Options:

87827097693. 1
87827097694 2
87827097695. 3
87827097696. 4

Question Number : 114 Question Id : 87827024744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fashTd =it wSIgdl AIa FEHITd o gidaes & 9 ?
(A) HIL.TH. Fhid

(B) TLIAR. SEHMTE

(C) 3HAEYA

(D) sAfrSiid &

(B) TSR <HE

== fou e fasredi © 9 W& 39 1 FHH HifI
(1) < (A) 3R (E)

(2) FFd (C) 3R (D)

(3) Hed (A) 3R (B)

(4) Fad (B) 3R (D)

Options :

87827097693. 1
87827097694. 2
87827097695. 3
87827097696. 4

Question Number : 115 Question Id : 87827024745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the economic causes of migration ?
A) Better employment opportunities

B) Marriage

(

(

(C) Higher wage

(D) Social discrimination

(E) Attraction of better facilities and infrastructure

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Onl

(2) (©), (D) and (E) Onlv

(3) (&), (C) and (E) Onl

(4) (B). (L) and (D) Onl
Options:

87827097697. 1
87827097698 2
87827097699. 3

87827097700. 4

Question Number : 115 Question Id : 87827024745 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



qard & 3R R fA=ifed § 9 R 9 § 2
(A) ST TSR & T

(B) foam®

(C) =AW HSIgd

(D) HrHIfSTF de9TE

(B) oeat gfawsii iR stagt=an & ufd sty

= feu o fasredi § 9 W& 39 1 =FIF HifAU
(1) %9 (A), (B) 3R (C)

(2) ad (C), (D) 3N (E)
(3) had (A), (C) 3R (E)
(4) A (B), (C) 3R (D)
Options:

87827097697. 1
87827097698. 2
87827097699. 3
87827097700. 4

Question Number : 116 Question Id : 87827024746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following management concepts in terms of period of evolution from earliest to latest.
) Informal organisation

B)  Time and motion study

D) Need hierarchy model
) Management by objectives

(A
(
(C) Six sigma
(
(£

Choose the correct answer from the options given below :

)
(2) B D)=(A(C)-(E)
B) Bl=(A=0)-(E-(C
(4 (A)=(B)->(D)-(C)-(E)
Options:

87827097701. 1
87827097702. 2
87827097703. 3

87827097704. 4

Question Number : 116 Question Id : 87827024746 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freAfafad gevm stasrmei i Yd 9§ 37 #id & hH § He :

(A) SR HTeT

(B) HHI Td Tfd LI

(C) o famm

(D) e BRI Hied

(E) <&l gRI YaieH

el fou T fqehedl | ¥ W@l 3 1 997 HIfT
1) (B)=(D)=(A)>(E)—>(C)

)

) (B)=(D)=(A)=>(C)=>(E)
) (B)=(A)=(D)=(E)=(C)
4)  (A)=(B)=(D)=(C)=(E)
Options :

87827097701. 1

87827097702. 2

87827097703. 3

87827097704. 4

Question Number : 117 Question Id : 87827024747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps in sequential order for designing a structured interview.
A) Create interview questions

(

(B) Appoint the interview panel

(C) Analyse the job

(D) Rate the job’s main duties

(E) Create benchmark answer

Choose the correct answer from the options given below :
(1) (B)(4)-(E~(C-D)

(2) (C=(D)=(A)>(E)-(B)
() (C-=(D)=(E)-(A)=(B)
() (A)=(E)-(B)=(C)-(D)
Options:

87827097705. 1
87827097706. 2
87827097707. 3

87827097708. 4

Question Number : 117 Question Id : 87827024747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T TR daR i o fou feferted Smi @1 oafed %4 | 1
(A) WEIERR J99 TR Al

(B) WEIchR THet e il

(C) el 1 fewetoy e

DEEEEREHREE )

(

E) deHIh 3T daR

e fou T ol | 9 Wl I &1 9 i
(1)  (B)=(A)>(E)-(C)~(D)

(2) (C)-(D)—=(A)-(E)—~(B)

(3)  (C)=(D)=(E)>(A)-(B)

(4)  (A)=(E)=(B)=(C)=(D)

Options :

87827097705. 1
87827097706. 2
87827097707.3

87827097708. 4

Question Number : 118 Question Id : 87827024748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following phases of development of multinational corporations as identified by Alder
and Ghadar starting from Phase-1

(A) Global

(B) Domestic

(C) Multinational

(D) International

Choose the correct answer from the options given below :

(
2 (©) ) A), )
() (©) (B), D), (4)
(4 () 0) ©) ()
Options:

87827097709. 1
87827097710. 2
87827097711.3

87827097712. 4

Question Number : 118 Question Id : 87827024748 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TR U ST ) 0 T A e o fohme & s qemenel (o) ot e e ()
R 4 0 U IR ST A

(A) o

B
(C) T
D) R

A fou e fopedt WY 3 81 o o ¢
(1) () © (). 0)

Options :

87827097709. 1
87827097710. 2
87827097711.3

87827097712. 4

Question Number : 119 Question Id : 87827024749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of OB modification in the right sequence starting from the beginning,
A) Identification of critical behaviours

(
(B) Measurement of the behaviours

(C) Evaluation to ensure performance improvement
(D) Functional analysis of the behaviour

(E) Development of an intervention strategy

Choose the correct answer from the options given below :

(1) (&), ®) () (D) ©)
) (4) (D), ), ©) &)
) (&), ®) (D). () ©)
) (A), () )

2
3
( (), D)

4
Options:

87827097713. 1
87827097714. 2
87827097715. 3

87827097716. 4

Question Number : 119 Question Id : 87827024749 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G TR WA o Feffin 00 1 A 8 Y% H T o H e it
(A) S 7R Al T

(B) ¥R 1 A

(C) o (Vewn) G 1 Gfafver ot & qeaie

(D) ‘SH9RR, 1 FehPAIcHeh et

(F) 8 TR () 1 o

w1l o U ol § Y S 1 9 Ao

(1) (4), (B} (B), (D), )
(2) (A), (D), ), C)
(3) (A), () (D). (), (C
(4 (4),(8) ) D)

Options :

)
)
)

87827097713.1
87827097714. 2
87827097715. 3

87827097716. 4

Question Number : 120 Question Id : 87827024750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the main Government sponsored schemes of Worker's Participation in Management in
ndia from earlier to latest,

[

(A) Institutions of employees’ participation in management for public sector undertakings.
(B) Shop councils and unit councils under the 20-points programme.
(C) Board-Level Participation
(D) Works Committee
(E)  Joint Management Councils

Choose the correct answer from the options given below :

(1) (4). ®) (C) (), (0)

(£
(2) (D). () (€, (B) (4)
(3) (), (C), (D), (&), (4)
4 (©) (D) ), (4), B)
Options:

87827097717.1
87827097718. 2
87827097719. 3

87827097720. 4

Question Number : 120 Question Id : 87827024750 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IS Wit A3 R eI S R W T A A Y A o A
SRR F

A) IS &7 o YA g T W ) eI o R

(B) 20 i el o e v o (i) o g oo
(C) I T FTe
(D) ™ HiHfs

(F) T v o
A e T foedl 0 R S o T Wi

(1) (4 (8) (©), (&) (D
(2) (D) (B) (C), ), (A
() () (C), (D), () (A
(4 (), (D) () (4) (B

Options:

)
)
)

87827097717.1
87827097718. 2
87827097719. 3

87827097720. 4

Question Number : 121 Question Id : 87827024751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the process of disciplinary action is an industrial undertaking in proper sequence.
(A) Domestic enquiry

(B) Framing of charges

(C) Charge-sheeting

(D) Inflicting punishment

Choose the correct answer from the options given below :
(1) 4), ) (C) ()

Options:

87827097721. 1
87827097722. 2
87827097723.3

87827097724. 4

Question Number : 121 Question Id : 87827024751 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forddt ofrenfiten SUshm ¥ STOTEATCT e it 3fed 9 | Fe
(A) AR S

(B) SRl <l &A1 STHI

(C) SN 3 gifEe Tl

(D) <& &

A feu 77U forehedi | § Wel 3T &l T97 hifSC

(1) (A). (B), (O), (D)

(2) (B) (©), (A), D)
(3)  (B) (A), (D), (©
(4) (D) (©), (A) (B)



Options :

87827097721.1
87827097722. 2
87827097723.3
87827097724. 4

Question Number : 122 Question Id : 87827024752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange in a sequence the Committees/Commission set up by the Central Government in the
county with regard to the matters concerning labour from the earliest to latest.

(A) Bombay Textile Labour Enquiry Committee,

(B) Royal Commission on Labour.

(C) Health Survey and Development Committee.

(D) First National Commission on Labour,

Choose the correct answer from the options given below :

5800

(2 (), (4),(C), 0)
B (©) (&), ©) D)
(4 (8) (8),(0) (©)
Options:

87827097725. 1
87827097726. 2
87827097727.3

87827097728. 4

Question Number : 122 Question Id : 87827024752 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o et el ) et <1 o, SR g0 o M A e § 9 A W i
L

(A) % 5% 9 1

(B) Pt R 1 i (T 9 o)

(C) e Tl i e

(D) Vel T 4R S

el feT T feered  § Y R 0

(1) (4) @), (C), 0)

Options :

87827097725. 1
87827097726. 2
87827097727.3

87827097728. 4

Question Number : 123 Question Id : 87827024753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following provisions in the ascending order as mentioned under the Payment of Gratuity
Act, 1972.

A} Determination of the amount of gratuity
B)  Compulsory Insurance

D) Payment of Gratuity
E) Recovery of Gratuity

Choose the correct answer from the options given below :
(1) (4).8) € 0)

(
(
(C) Nomination
(
(

(2 (O) (B) (C) (A). (B
(3) (), (C), () (&), (B
(4 (O) (4), €) ), )
Options:

87827097729. 1
87827097730. 2
87827097731.3

87827097732. 4

Question Number : 123 Question Id : 87827024753 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Freefefen el 1 3URR ST e, 1972 o S 376 I o SR e 9 A e

A few o foredl o B W SR 0 T b

(1) (&), ®) (C) D) )
2 (O) B, ) @)
) ) (C) D) @) E
(4 (D) (4) (C) ©), &

Options :

)

)
 (E)
87827097729. 1
87827097730. 2

87827097731.3

87827097732. 4

Question Number : 124 Question Id : 87827024754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following welfare facilities provided under the Factories Act, 1948 in ascending order
as per their sections,

(A) Creche
(B) Canteen
(C) Washing
(D) First-aid appliances
(E) Facilities for sitting

Choose the correct answer from the options given below :

: (
(2) (), (), (D), ), ()
(3) (), (A) (), (), (D)
(4 (O) (€ (), (4), )
Options:

87827097733. 1
87827097734. 2
87827097735. 3

87827097736. 4

Question Number : 124 Question Id : 87827024754 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FIE] AU, 1948 o ST Tet (A Feamvee) ol 1 37 SR (S o S
R 379§ oo F

(4) TG

B

©) e

(D) s e SR

(F) o & o

A e T foedl 0 R S o T Wi

A) (€, (), B), (D
O, €) ) B) (4)
B), (), (C), (), (D)
D) (€), (B) (&), (&)

1
2
3
(

) |
) |
) |
4 |

——

Options:

87827097733. 1
87827097734. 2
87827097735.3

87827097736. 4

Question Number : 125 Question Id : 87827024755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : “Wages form the pivot round which most of the Labour problems revolve’

Statement (I1) : Problems concerning the economic social conditions of wage earners have become
topical.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827097737. 1
87827097738. 2
87827097739. 3

87827097740. 4

Question Number : 125 Question Id : 87827024755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A Q) F UM E

HOR (1) TG TR 0 & e ] 0 o el e e o e 21

B (1I) : G SR 0 Al 1 A o o et § e v awtr 8 £
T F % A 5, e fou 0 foed A © o WA A T

(1) FRIFFAN T

(2) T4 1 4 o 11 S TR ¢

(3) TR ¢, o FoR 1T ¢

() FOR T ¢, oot FR TR &

Options :



87827097737.1
87827097738. 2
87827097739. 3

87827097740. 4

Question Number : 126 Question Id : 87827024756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IL
List - I List - II
Name Concept
(A) Max Weber (I)  Social systems approach
(B) Chester I. Barnard (I) Heirarchy
(C) Vilfre Pareto (III) Unit production
(D) Joan Woodward (IV) Informal structure
Choose the correct answer from the options given below :

(1) (A1), B)-0), (OA1IV), (D))
) (A, B)-1V), (©)-(), (D))
) (AL, (B)-(1), (O-IV), (D))
) (A, B)-(D), (©)-(I), (D}-IV)

Options :

(
(3
(4

87827097741.1
87827097742. 2
87827097743. 3

87827097744. 4

Question Number : 126 Question Id : 87827024756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Y1 % T GeA-11 %1 e wife
qeit-1 geli-11

Rl ST
(A) HEH Fa ) He faeed s
(B) <X . FATS (II) STLhI
(C) faarw el (I FHe g
(D) SifF Igare (IV) STHHA LF

= feu U fawredi § 9 |WEt 39T H1 997 HifSU ;

(1) (A)-ID), (B)-(1), (O-1V), (D)~(I1)
(2)  (A)-1I), (B)-(IV), (C)-(D), (D)-(II)
(3)  (A)-(I), (B)-(I), (O)-(IV), (D)-(II)
(4) (A1), (B)-(1), (O)-(II), (D)-(IV)
Options:

87827097741.1
87827097742. 2
87827097743. 3

87827097744. 4

Question Number : 127 Question Id : 87827024757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - T with List - II.

List -1 List - 11
Types of Interview Meaning
(A) Situational inferview () A series of job-related questions that focus on how the

candidate reacted to actual situation in the past

(B) Behavioural interview  (II) A series of job-related questions that focus on how the
candidate would behave i a given sifuation

(C) Job-related interview () A sertes of often rude questions that make the candidate
uncomfortable

(D) Stress interview (IV) A series of job-related questions that focus on relevant past
job-related behaviour

Choose the correct answer from the options given below :

(1) (AH1), (BHI), (CHIV), (D)

)
(2) (AX{D) (B, (CHIV), (DHI
(3) (AX{I), (B)-0) (CHIV), (DA
(4) (AX{I, (B-(V), (C1{D, (DHI)
Options:

87827097745. 1
87827097746. 2
87827097747. 3

87827097748. 4

Question Number : 127 Question Id : 87827024757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oL & 0 el 1 et i
Tl I

TETTRRT. % Jehm D)

(A) oot s () o e i o o 7 w e T
a3 for o ol vt ey & of ot e
|

() TR WAER (1) e Ha o e o o e o o &
e ol e S ) o A

() e T T () % 2 ¥ 9 e 1 SHIGaR 1 oo R &1 ¢

(D) % e (IV) S e e o1 e Fo i foves it et e

TRy o 7T €

el 10 T feeredl ) Y R 41 9 T

(1) (AX{D). (BHI), (C1{IV), (D)

(@) (A¥{D) (B, (CHIV), (D}

(3) (A¥{I, ()0 (CLV), (DM

(4) (AR{I, (B)-V), (CHD, (DA

Options :

87827097745. 1
87827097746. 2
87827097747. 3

87827097748. 4

Question Number : 128 Question Id : 87827024758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List -1 List - II
HRD Framework Development Formulater
(A) The Integrative Framework Approach () T.V.Rao
(B) The Strategic Framework Approach () Friedman
(C) The HRD Scorecard Approach () Ulrich and Lake
(D) The Human Capital Approach (IV) Young and Berman

Choose the correct answer from the options given below :

(1) (AHIV), (B)-(ID), (C)-{0) (D})

(I
(2 (AHD, (BHL), (CHIV), (DHI)
() (AM), (BHL), (CH(), (DH1V)
(4) (A, (B)-0, (CH{IID), (DHIV)
Options:

87827097749. 1
87827097750. 2
87827097751. 3

87827097752. 4

Question Number : 128 Question Id : 87827024758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geit-1 o 919 Gell-11 #1 et hifse

geit-I gei-11
T W & W foerTaeRat /freauTeRat

(A) FHHCHIES TREN IYTH () a1

(B) M Hifde E@El I () TIHd

(C) TF 3R Bl kYA ITFH (1) 3afe TE o
(D) WFE sl SURTH (IV) o T0E T
A fou U faeredl | 9 W I A T I

(1) (A)}(IV), (B)-(IID), (O-(T), (D}-(ID)

2)  (A)D), (B)-(I), (C)-(1V), (D)-(II

( D), )
(3)  (A)-(I), (BT, (€
(4) (AR

Options:

(IV), (D)-(11])
)»-(0), (D)-(IV)
), (B)-(1), (C)-(ID), (D}-1V)

87827097749. 1
87827097750. 2
87827097751. 3

87827097752. 4

Question Number : 129 Question Id : 87827024759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
Theories of motivation Propagator
(A) Expectency theory (I) J. Stacy Adams
(B) Equity theory (II)  Victor Vroom
(C) ERG theory (IlT)  Fritz Heider
(D) Attribution theory (IV) Clayton P. Alderfer

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(I1I), (C)-(I), (D)-[)
110, (B)-(1V),

I

(2) (A (O)-(1), (D}-(1)
(3)  (A)-(D), (B)-(1), (C)-(I1), (D)(V)
(4) (A1), B)-(1), (O1V), (D)-(IL

Options :

87827097753. 1
87827097754. 2
87827097755. 3

87827097756. 4

Question Number : 129 Question Id : 87827024759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



GEi-1 % 919 Gei-11 1 faam ifs
i1 geit-11

T =1 faegia PERED
(A) goaren fagid () . 2H g
(B) @ fHgid () faeRT gH
(C) 3 &R S fagia () TSt 23X
(D) ToTRIgY fagid (IV) AT dl. Teetit

= feu T faereyl ° 9 WE S 1 994 HifU

(1) (A)-(1V), (B)-(III), (C)-(10), (D)-(I)
(2) (A)-(0), (B)-(IV), (O)-(), (D)-(IT)
(3)  (A)-(), (B)-(II), (O)-(I1), (D)-(IV)
(4)  (A)-(D), B)-1), (O)-1V), (D)-II)
Options:

87827097753. 1
87827097754. 2
87827097755. 3

87827097756. 4

Question Number : 130 Question Id : 87827024760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 1L
List - I List - II
Authors Books
(A) Karl Marx (I) A theory of the labour movement
(B) Selig Perlman (IT) The poverty of philosophy
(C) Robert F. Hoxie (II) The world of labour
(D) G.D.H. Cole (IV) Trade unionism in the united states

Choose the correct answer from the options given below :

(1) (A, (B)-(0), (O)-(1V), (D){IM)
(2) (A1), B)-(IV), (L), (D))
(3)  (A1V), (B, (C)-(), (D))
(4) (A, (B)(IV), (C)-(ID), (D)-0)
Options :

87827097757. 1

87827097758. 2

87827097759. 3

87827097760. 4

Question Number : 130 Question Id : 87827024760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) SI.ELT. & (IV) 22 gfafea 39 3 FRde ©ed
= fou 7 fasreql | 9 WE IUT A T 90 ;

(1)  (A)-(ID), (B)-(I), (O)-(IV), (D)-(II)

(2) (A)-(ID), (B)-(IV), (C)-(III), (D)-(I)

(3)  (A)-(IV), (B)-(III), (C)-(), (D)-(II)

(4) (A)-(I1), (B)-(IV), (O)-(I1), (D)-(I)

Options:

87827097757. 1
87827097758. 2
87827097759. 3

87827097760. 4

Question Number : 131 Question Id : 87827024761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - T with List - II.
List -1 List - 1T
Form of Strikes Basic features

(A) Authorised strike ~ (I)  Restored to for a short period such as day or two to give the
employer a warning of the likely wider form of consideration if
their demands are not promptly conceded.

(B) Wildcat strike () Sucha strike is usefully resorted to in offence, to put pressure
on the management,

(C) Sit-down strike (D) When a section of workmen without authorisation from the
union and often in defiance of the direction of the competent
authority in a union.

(D) Token strike (IV) Called by proper authority in a union and in confirmity with
the requirements of law.

Choose the correct answer from the options given below :

(1) (A, (BHIV), (O, D)

(9) (AHIV), (B, (OH, D)

(3) (AM0), (BH), (CH, (DHIV)

[4) (AV), (B, CH), (D)

,___H_’,__‘

Options:

87827097761. 1
87827097762. 2
87827097763. 3

87827097764. 4

Question Number : 131 Question Id : 87827024761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A, (BL{IV), (C-(I, (DI()

(2) (AK{IV), By, (©-{t). (O)-0

(3) (AM), (B-(m), (CH{), (D-IV)

(4) (AK{IV), (i) (C1(m), (D)

Options:

87827097761. 1
87827097762. 2
87827097763. 3

87827097764. 4

Question Number : 132 Question Id : 87827024762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - T with List - II.

List - List- 11
Authorities Legislations
(A) Technical Advisory Committee (I} ~ The Contract Labour (Regulation and Abolition) Act,
1970
(B) Central Advisory Board () The Factories Act, 1948
(C) Export Committee (I0) The Child and Adolescent Labour (Prohibition and
Regulation) Act, 1986

(D) Site Appraisal Committee (IV) The Building and other Construction Workers

(Regulation of Employment and Conditions of
Service) Act, 19%

Choose the correct answer from the options given below :

(1) (AN, (BHT). (CKIV), (DHD)
) (BH
I

(2) (AMIV), (BHI, (CHID) (D-0)
() (AMD, (BH(T), (CHI, (DHIV)
(4) (A, BHIV), (CHD, (DA
Options:

87827097765. 1
87827097766. 2
87827097767. 3

87827097768. 4

Question Number : 132 Question Id : 87827024762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (AM{ID, (BE(T), (CH1V), (DHD)
(2) (AMIV), (BHI, (CHI) (D)
(3)  (AMD), (BML), (CHIL, (DHIV)
(4 (AMT), B-V), (CHD, (DHI)
Options:

87827097765. 1

87827097766. 2

87827097767. 3

87827097768. 4

Question Number : 133 Question Id : 87827024763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II

Legislations Authorities
(A) The Minimum Wages Act ()  Advisory Committee
(B) The Equal Remuneration Act (I) Controlling Authority

(C) The Employees’ Provident Fund (IT) Central Advisory Board
and Miscellaneous Provision Act

(D) The Payment of Gratuity Act (IV) Board of Trustees

Choose the correct answer from the options given below :

(1) (AR, B)-{), ©)-1V), (D)-0)

), (B)-(1L1), (C(LV), (D

(2) (A HID)
(3)  (AHI, B)-(0), (C-(IV), (D))
() (AHIV), (B(I), I, D)1
Options:

87827097769. 1
87827097770. 2
87827097771.3

87827097772. 4

Question Number : 133 Question Id : 87827024763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A}, B)-{I), ©-IV), (D)-(1)
(2)  (A}D), B, (CHIV), (D)-(I)
(3) (A, (B0, (C}-(IV), (D)-(I)
(4)  (A}IV), (B)-(II), (C)-(I), (D)-(1)
Options :

87827097769. 1
87827097770. 2
87827097771.3

87827097772. 4

Question Number : 134 Question Id : 87827024764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - 1 List - II
Occupational Disease Particulars
(A) Anthrax ()  Degree of accuracy, speed of work and concentration

required for the job
(B) Silicosis () Making of asbestos mattresses
(C)  Asbestosis (I
(D) Telegraphic Cramp (IV) Disease of animals

II) Caused by inhaling dust confaining silica

Choose the correct answer from the options given below :

(1) (AM{I), (B11V), (©-{1, (DA

o
(2) (AHIV), (BMD), (1), (DX
(3) (AKIV), (BT, (©-{L), (D))
(4) (AH1), (BHI), (CH{Ih, (DH(IV)

Options:

87827097773. 1
87827097774. 2
87827097775.3

87827097776. 4

Question Number : 134 Question Id : 87827024764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A, (B}-1V), (C-(1), (D}
(2)  (AMIV), (BHI), ({0, (DHT)
(3) (AMIV), (BT, (C)-() D)
(4) (A0 (BK(T), (C1{I), D}V
Options :

87827097773. 1
87827097774. 2
87827097775. 3

87827097776. 4

Question Number : 135 Question Id : 87827024765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Name of Theory Propounder
(A) Wage Fund Theory () Ricardo
(B) Residual Claimant Theory (II) J.B. Clark
(C) Marginal Productivity Theory (IIT) J.S. Mill
(D) Subsistence Theory (IV) Walker

Choose the correct answer from the options given below :
(1) (A1), (B)-(1V), (O-), (D)-()

(2)  (A)-(UD), (B)-(1), (O)-(1), (D)-(IV)
(3) (A1), (B)-(I), (O)-(1L), (D)-(IV)
(4)  (A)-(D), B)-), (©)-IV), (D)-[0)

Options :

87827097777.1
87827097778. 2
87827097779.3

87827097780. 4

Question Number : 135 Question Id : 87827024765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(), (B)-(IV), (O)-), (D)-(1)
(2)  (A)-(I), (B)-(1D), (O)-(D), (D)-(IV)
(3)  (A)-(), (B)-(I), (O)-(I1), (D)-(IV)
(4)  (A)-(I), (B)-(I), (O)-(IV), (D)-(0)
Options:

87827097777.1
87827097778. 2
87827097779. 3

87827097780. 4

Question Number : 136 Question Id : 87827024766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : It is argued that the best way to motivate workers is through job enrichment,
which comprises of increasing opportunities for the worker to experience feelings
of responsibility, achievement growth and recognition.

Reason (R) :  Empowered employees would do their jobs well because they realise their

responsibilities for providing quality service and towards other dimensions of
their work

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

Options:

87827097781. 1

87827097782. 2

87827097783. 3

87827097784. 4

Question Number : 136 Question Id : 87827024766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097781. 1
87827097782. 2
87827097783. 3

87827097784. 4

Question Number : 137 Question Id : 87827024767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): It is the employee’s perception of a situation that becomes the basis for his/her
behaviour.

Reason (R) :  Individuals behave in a given manner based not on the way their external
environment is but, rather on what they see or believe it to be.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

Options:

87827097785. 1
87827097786. 2
87827097787.3

87827097788. 4

Question Number : 137 Question Id : 87827024767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097785. 1
87827097786. 2
87827097787. 3

87827097788. 4

Question Number : 138 Question Id : 87827024768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : “Closed shop'is an industrial or business establishment in which the union security
clause in collective agreement provides thata Job seeker must become the member
of the union at the time of his employment and continue to do so in order to
tetain his job.

Statement (I1) : Closed shop agreements were widely prevalent in the USA and India following

the enactment of the Wagner Act (National Labour Relation Act) in 1935 and the
Trade Union Act, 1926 respectively.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement Il are true
2

(2
(3) Statement I is true but Statement I is false
(4) Statement I is false but Statement II is true

Both Statement I and Statement II are false

Options:

87827097789. 1
87827097790. 2
87827097791.3
87827097792. 4

Question Number : 138 Question Id : 87827024768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097789. 1
87827097790. 2
87827097791.3

87827097792. 4

Question Number : 139 Question Id : 87827024769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The Factories Act, 1948 is meant to regulate the working conditions and meant to
protect workers from exploitation and unhygenic working conditions within the
factory premses.

Reason (R) :  In the absence of regulated health, safety and welfare provisions along with
working hours, leave and restrictions on employment, certain category of workers
are likely to be exploited by the greedy business establishment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A) s not correct but (R) is correct

Options:

87827097793 1
87827097794 2
87827097795. 3

87827097796. 4

Question Number : 139 Question Id : 87827024769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097793. 1

87827097794. 2

87827097795. 3

87827097796. 4

Question Number : 140 Question Id : 87827024770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The main deferminants of the general level of wages are the value of the marginal
net product of labour, the degree of competition in the markets for the products
of industry and the relative bargaining power of the workers and employers.

Reason (R) :  Most economists now confine their explanation of the determination of wage in
the modern free labour market to a combination of marginal productivity theory
and bargaining theory.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

Options:

87827097797 1
87827097798. 2
87827097799. 3

87827097800. 4

Question Number : 140 Question Id : 87827024770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097797. 1
87827097798. 2
87827097799. 3

87827097800. 4
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Read the following passage carefully; and, on the basis of the passage, given answer to question
number.

According to recent Survey, India’s economic growth in FY23 has been principally led by
private consumption and capital formation and they have helped generate employment as seen in the
declining urban unemployment rate and in the faster net registration in Employee Provident Fund.
Moreover, World's second-largest vaccination drive involving more than 2 billion doses also served tolt
consumer sentiments that may prolong the rebound in consumption. Still, private capex soon needs to
take up the leadership role to put job creation on a fast track,

Italso points out that the upside to India's growth outlook arises from (i) limited health and
economic fallout for the rest of the world from the current surge in Covid-19 infections in China and,
therefore, continued normalisation of supply chains; (i) inflationary impulses from the reopening of
China's economy turning out to be neither significant nor persistent; (ii) recessionary tendencies in
major Advanced Economies (AEs) triggering a cessation of monetary tightening and a return of capital
flows to India amidst a stable domestic inflation rate below 6 per cent; and (iv) this leading to an
improvements in animal spirits and providing further impetus to private sector investment.

The Survey says, the credit growth to the Micro, Small, and Medium Enterprises (MSME)
sector has been remarkably high, over 30.6 per cent, on average during Jan-Nov 2022, supported by the
extended Emergency Credit Linked Guarantee Scheme (ECLGS) of the Union government. It adds that
the recovery of MOMES is proceeding apace, as is evident in the amounts of Goods and Services Tax
(GST) they pay, while the Emergency Credit Linked Guarantee Scheme (ECGLS) is easing their debt
servicing concerns,

Apart from this, increase in the overall bank credit has also been influenced by the shift in
borrower's funding choices from volatile bond markets, where yields have increased, and external
commercial borrowings, where interest and hedging costs have increades, towards banks. If inflation
declines in FY24 and if real cost of credit does not rise, then credit growth is likely to be brisk in FY24

Sub questions

Question Number : 141 Question Id : 87827024772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What factor has contributed to the recovery of Micro, Small, and Medium Enterprises (MSME)
sector ?

(1) Liberalizing government policies
(2) External Emergency Credit Linked Guarantee Scheme (ECLGS)
(3) Credit creation by the RBI

(4)  Boost in industrial export

Options:

87827097801. 1

87827097802. 2

87827097803. 3

87827097804. 4

Question Number : 142 Question Id : 87827024773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What needs to take a leadership role to accelerate Job Creation, according to the survey ?
(1) Private capital expenditure (capex)

(2)  Foreign Direct Investment (FDI)

(3)  Public expenditure

(4) Mainfaining GDP growth rate

Options :

87827097805. 1

87827097806. 2

87827097807. 3

87827097808. 4

Question Number : 143 Question Id : 87827024774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What played a role in boosting consumer sentiments and consumption rebound in India ?
(1) Indo-US relationship

(2) GDP Growth Rate

(3)  World second largest vaccination drive

(4) Implementation of the Government policies

Options:

878270978009. 1
87827097810. 2
87827097811.3

87827097812. 4

Question Number : 144 Question Id : 87827024775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : ~India’s economic growth in FY23 has been principally led by boost in agricultural
export.

Statement (1) : Inflationary impulses from the reopening of China’s economy tumed out to be
neither significant nor persistent.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

Y
(3) Statement Iis correct but Statement II is incorrect
g

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct
Options :

87827097813. 1

87827097814 2

87827097815. 3

87827097816. 4



Question Number : 145 Question Id : 87827024776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What were the two main factors contributing to India’s economic growth in Financial Year 2023 7
(1) Public Healthcare initiatives and agriculture reforms
2)  Export growth and technological advancement

3) FDIand credit formation
)

(4) Private consumption and capital formation
Options:

87827097817. 1

87827097818. 2

87827097819. 3

87827097820. 4

Question Id : 87827024771 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827024772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097801. 1
87827097802. 2
87827097803. 3

87827097804. 4

Question Number : 142 Question Id : 87827024773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097805. 1

87827097806. 2

87827097807. 3
87827097808. 4

Question Number : 143 Question Id : 87827024774 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097809. 1
87827097810. 2
87827097811.3
87827097812. 4

Question Number : 144 Question Id : 87827024775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097813. 1



87827097814. 2
87827097815. 3

87827097816. 4

Question Number : 145 Question Id : 87827024776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097817. 1

87827097818. 2

87827097819. 3

87827097820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701082
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827024777 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the following passage carefully; and, on the basis of the passage, answer question number,

During the last couple of decades, with the expansion of technology, mtemet, urbanization
and more recently the COVID-19 pandemic, the debate on ‘what is the future of work’ has been rife
among employers. In the 2019 report of the World Bank Group on the ‘Changing Nature of Work, it
was estimated that less than 0.5% of the active labour force participates in the gig economy globa]]y,
with less than 0.3% in developing countries. As per the 2022 report by India’s public policy think tank,
NITI Aayog, on “India’s Booming Gig and Platform Economy” (NITI Report), the share of gig workers
in total workers increased from 0.534% in 2011-12 to 1.33% in 2019-20. The advancement of technology
has also enabled the emergence of temporary workers using online platforms thereby amplifying the
focus on gig work.

The NITT Report considers ‘gig workers' as those engaged in work outside the traditional
employer-employee arrangement, There are two subsets to gig workers i.e, platform workers and non-
platform workers, When these gig workers use online algorithmic matching platforms i.e., websites or
apps like Amazon or Uber to connect with customers, they are known as platform workers. The workers
who work outside of these platforms are non-platform workers. These mainly include construction
workers, day-job workers and non-technology based temporary workers,

Sub questions

Question Number : 146 Question Id : 87827024778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : There are two subsets to gig workers, ie., platform workers and non-platform
workers.

Reason (R) :  The NITI Reports considers ‘gig workers' as those engaged in work outside the
traditional employer-employee arrangement,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is correct



Options :

87827097821. 1
87827097822. 2
87827097823.3
87827097824. 4

Question Number : 147 Question Id : 87827024779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What factors have contributed to the ongoing debate about the future of work ?
(1) Changing demographics, labour strikes, and government policies

) Natural disasters, labour unions, and globalization

) Economic recession, political instability and social changes

) Technological expansion, urbanization, and COVID-19 pandemic

2

(4
Options :

87827097825. 1
87827097826. 2
87827097827. 3

87827097828. 4

Question Number : 148 Question Id : 87827024780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

According to the 2019 report of the world Bank Group, what percentage of the global active
labour force participates in the gig economy.

(1) Less than 0.5%

(2) Around 1%
(3)  About 5%
(4) Over 10%

Options :



87827097829. 1
87827097830. 2
87827097831. 3

87827097832. 4

Question Number : 149 Question Id : 87827024781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of gig work, what are the platform workers ?
Workers who work exclusively offline

Workers who use online platforms to connect with customers

2)  Workers who have traditional employer-employee arrangements
)  Workers who engage in temporary

Options :

87827097833. 1
87827097834. 2
87827097835. 3

87827097836. 4

Question Number : 150 Question Id : 87827024782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Recently the world has experienced a rise in the number of gig workers.

Reason (R) :  During the last couple of decades, with the expansion of technology, internet,
urbanization and more recently the COVID-19 pandemic, the debate on ‘what is
the future of work’ has been rife among employers.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

Options:

87827097837. 1
87827097838. 2
87827097839. 3
87827097840. 4

Question Id : 87827024777 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827024778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097821. 1

87827097822. 2

87827097823. 3
87827097824. 4

Question Number : 147 Question Id : 87827024779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097825. 1

87827097826. 2



87827097827. 3

87827097828. 4

Question Number : 148 Question Id : 87827024780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827097829. 1
87827097830. 2
87827097831.3
87827097832. 4

Question Number : 149 Question Id : 87827024781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827097833. 1
87827097834. 2
87827097835. 3

87827097836. 4

Question Number : 150 Question Id : 87827024782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827097837. 1

87827097838. 2

87827097839. 3

87827097840. 4



